finalm1314CO149sulllljj-Alfredo Alvarez

https :’!xhtem Pmd pcal‘?)ncm g.com!apif v1/print/math
o - L Y=—25

_ R ~ =y
|Student: Instructor: Alfredo Alvarez
Date: Course: math131 4newcoreq2019 Assignment: finalm1314C0O149sulllljj ’J
S o (/7 (319 QF(1—(q"
1. Add: -10+1 ~/ 0/ N _-_:___f‘T-
. i 08— 0371 W l?ﬁ
-10+1= (Type an integer.) =3 ) OF—T1S ), o
Answer: -9
5
o
ID: Quick Check R.2.6
L — S —— = = — = //
2. Add. "‘(/ﬁ'( 7,; i
-9+9 - v,
B =) <
_ 9 + 9 - 5 J L_/.l'l
L P L
Answer: 0 L7
V
V4
ID: Quick Check R.2.9 e
-_J_._.-:-—T____ - —_— — — —= — — <
3. a il
Subtract the following. The answer is :
ey,
-2-5 —? -5 = '
Answer: -7 t’z\\\
ID: Quick Check R.2.19
P - £
4. Find the product. =3 /)
-3 . 2 ‘ _ \\\} / .
(=3)7= — l
Answer; —21 A
ID: Quick Check R.2.25 /
5. Evaluate the expression. =2 L o
oy
2
(-2) ( ¢ ) (— )" /
(- 2)2 = (Simplify your answer.) ( o ) ~ 4
---}, Y /
>
Answer: 4 {/
ID: R.4.31 /
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6. Find the value of the expression. - [f ; ) . B
P (0D (7)
— 6 F (7))~
-gt= (Simplify your answer.) (,'/ 2 (//) .
Answer: — 4096 Q — G076 < _ "H
ID: R.4.33
= =S=——— e il B - e R, =
7. Evaluate the expression. S 2 - (6’_ s)= (/)(/"? ﬁf__f_-f
5+2+(6-5) s+2°(0) =
5+2+(6-5)= ' S+ 2 <
Answer: 7 @
ID: R.4.43
8. Simplify. -3 [ G —(2-5 )1 < (’,‘fewmx >
—3[6—(2_5)] __"sL () -— (_--%)j - =
-3[6-(2-5)]= y 73 i il
— -3 { ¢-+13f
Answer: =27 -3 C_Cv"f:f &
E=2T= 5
ID: R.4.45 < - ——
S - N S = a
9. Evaluate the expression. 5‘ —= ,2: ,{"%' WPV BN i My
: vé -« )
4-(-8) 4 _
2 i g
'
4-(-8
i ) = (Type an integer or a simplified fraction.) / 2 N
2
: A )
Answer: 3 Cg //i
ID: R.4.47
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10. Evaluate the expression.

4-[3+4-(2+2)]
4[3+4-(2+2)]= (Simplify your answer.)
Answer: 76
ID: R.4.53 e — e =
) 8 —————
11. Simplify the following expression by combining like terms.

5(z +3) - 3(4z + 1)

5(z+3)-3(4z+1)= (Simplify your answer. Do

Answer: -7z+12

ID: Quicl< Check R.5.27

12. Simplify the following expression by combining like terms.
—~2( %%

- 2(3x—6) = (5x+1)
-2(3x—-6)-(5x+1)=
Answer: —11x+ 11

ID: Quick Check R.5.28

13. Evaluate the following expression for the value given.
2 =
=3X"+4x-7, x=-4
The expression — 3x2 +4x -7 evaluated when x= -4 is

s el £l

Answer: - 71

https://xlitemprod.pearsoncmg.com/api/v1/print/math

‘/“Z'ﬁ e (210) ]+
‘/v(_:j ¢ o (@)=

- L pap A 5 )
ol g A
(/: & {‘{' (I)‘;( -

‘?‘_ —_— — — e

Sé+Is —fze —3
not factor.) N /ér e D 4 s .

<ZC /2 DA >_\

-

1= 5drt) =

o (5 o A el (5'-&’%/) -
— G+l
—[ X ~+

ek A
[1 ==

o

@@’”wﬁds"é

. (Type an integer.)

~

— % (—< ) ¢ o () — 7 =

ID: R.5.49

—3(/6)
b Al e

— G~ /
7!

30f 87
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( & DA > 3

g

14. Simplify the following expression by combining like terms. —_— S ,g "“Z (2 —~ S/ )

-5z-2z+4 (_ -——-7 g_ i S, - \

-5z-2z+4= (Simplify your answer. Do not factor.)

Answer: —7z+4

ID: R.5.65

‘ .
15. Simplify the following expression by combining like terms. ( /é‘/"\ /M 3 )
14z+5-16z2-6

142+5~-16z-6= (Type a simplified expression.)

/4R + S —/6& —67

Answer. —2z-1 ( ‘2 2 — E Ty

ID: R.5.67
e == S —_—— = = =
16. Simplify the following expression by combining like terms. /("/“ /)/./ )

3(v-4)+2(6v-1)

3(v-4)+2(6v-1)= (Simplify your answer. Do not factor.) T 7
W v—y )+ (6v—1)

Answer: 15v- 14 SV ’— ‘/L g /Z — 1

CTsV—r%< )

n

L

ID: R.5.83
Simplify by factoring. «/6_ = !
U( . ] = (Type an exact answer, using radicals as needed;
V63 J
Answer: 34/7 k/, [// \

C ST = T

ID: Quick Check R.6.25

18. Simplify by adding the polynomials. (3}( L—~ 6/_,,,, 's /———f' ?hz—)_( C —E/Q )(.__c,: _)"‘.:—
(3x2—6x+5)+(2x2+16x—9) 3)( "‘__ (; ,('-—(" \),- —f Z’( L "‘f‘/@,\/ B
(3x%—6x+5) + (2x° + 16x - 9) = L ‘ )

(Simpify your answer. Do not factor( 5“:( (i __/__ /0 X _-—S'l : \

__,-/-‘

/\

Answer: 5,2 4 {0x -4

( Pe rDA 5 N

_—‘/)

ID: Quick Check R.9.18
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19. Simplify the following by subtracting the polynomials. Q p 3 lag D,;A )__
(7> -y?+5y+9) - (y° +oy’ -ay+4)
3_.2 3. 42 v i =
(7y*-y? +sy+9) - (> + oy’ -ay+ 3)- =~ (Do not factor.) 3 . v
. ¥ .‘5 ) L ) LA - " . g f (rr e ey —
Answer: g3 _ 10\2 4+ gy + 5 7L'} . “) t 59 -+ I l j T J 7 (
S . el ) —
Cey =109 5 +qv +57)
ID: Quick Check R.9.22 e ———
20. Simplify. ; : :
implify. Q /( BeA J)/{l P

(10y3'3y2+2y+2)-(-2y3+6y+6) 2
3_ g N B ; = g = o ST
(10y 3y +2y+2) ( 2y +6y+62/. _— _(D(: ;‘1/::1};?;10” /} A
’ ( ) - - B = .
Answer: 12y3-3y2—4y—4 /(’"‘9 }._- 5 x} — 1 } — 2 -—f— Z / — G \:) L

i T DY D L
ID: Quick Check R.9.23 o %57 =79 — 5 <.

P il R
21. Find the product of the two binomials. /h_? e
(75 (xr7) ~
N

(x+5)(x+7)

(x+5)(x+7)= (Simplify your answer.) )( L '“‘I*"? ,)( < & y “T S’Y B

1 . R
Answer: y2 4 12y + 35 (HH_ )( —f /Z ¥ 3 3 = N

ot

ID: Quick Check R.10.9

P e T
22. Use the FOIL method to find the product. - ¢ g —
( Gx-+1) {2y =
e

@x+7)(2x - 1)

(4x+7)(2x-1)=__ (Simplify your answer.) X{L — &7 > & T / g K ﬁ7 <

Answer: g, 2 . . (8 T
s it ey

——

e —

ID: Quick Check R.10.10

~———— - - —
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23. Find the product. ( /d - L) /ﬂ oo 3 i)
]
(7a-b)(a + 3b) ) ) - —_— e 2
/C-‘ _._f- 2 l (/‘.\ l_— (7% L) 3 l
Tateeiob = lab —2b0

(7Ta-b)@a+3b) =

Answer: 75 + 20ab - 3b? , 2 —_ s

ID: Quick Check R.10.11 -

24. Find the product using the difference of two squares formula. / a)( ﬁ7/( jf )(,_ / ) ol
(8x+7)(8x~T7) CK()( o S(J K/ *!’ 5(“( —-C/
(8x +7)(8x~7) = _\\
{. e R —
Answer: g4,2 _ 49 <f 4 ’\/ ? (7 = —cge?
ID: Quick Check R.10.16
25. Multiply using the rule for the square of a binomial, (4/#/ ) =
x=11)2 = 5. _
(x=11)2 {/—//)I'/)(F/’)
X = = ;
B Yt =X =[x (2] =
Answer: x2 _ 2oy + 121 — /L_-F J - — ey
— 22X+ (21T )
C X 4 EE
ID: Quick Check R.10.21
p = — =
26. Find the product. ( 7)( » y . _
(7x +9)? (
X+ < ( 7 K’ = 1 )
@x+9)> = ' ’i’

5 X o 63x +6IX +§FI =
Answer: 49x2 + 126x + 81

L T B
ID: Quick Check R.10.22 @ )( (_ /2()( 7 i{/’%’ - )

—_——
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27. Find the product. C(/-X}()‘/ G )

(x+8)(x-6)

 (x+8)(x-6)= (Simplify your answer.) _()( a0 X’< ' (/ (}/ -

Answer: y2 4 o _ 48 (_)// —{" Z ( - (l’/ y \h

ID'R10 37
-_—2_8_— Use th ;OIL th_dt_f d th (_1ct o ’/}_—_—hﬁ o _ -
se the method to find the produ —~/ 2 . .
(5%—@7(5 X—1) =
(5x +7)(5x - 1) AR T
(5x+7)(bx-1)= | (Simplify your answer.) Z 4 3(’{— —— 5_ /(\ — 3 .Y )( —7 =
/J'I_/’_K__
= F : e A -
Answer: 5544 + 30x -7 & Z 5/{ —t- ?())( = ) - ~\>
.-’/'I
ID: R.10.39

P ———

29. Find the product of the two binomials. ey e .
(5a+3b)(a - 3b) 64»—(-34/ /d—— 54)1
&L S i
(5a + 3b)(a-3b) =| (Simplify your answer.) '

S/L——/Scxz ¥ 3a b —";i'.[_;i

Answer: 552 - 12ab - 9b”
= \

ID: R.10.45 ( fa —( 2 &\[ —i&g ,é g :}

e ——— e ______l_,_.:rﬁ—
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30. Determine which of the given numbers are solutions to the equation. ""C:- J( e ] T -y
-’(9 ("i‘) —f ) T —N

-6x+7=-5x=-2,x=2,x=4

Is x = - 2 a solution to the equation?

Yes
No

Is x =2 a solution to the equation?

) Yes
) No

Is x =4 a solution to the equation?

) No
) Yes

Answers No
Yes

No

ID: Quick Check PF.1.3

https://xlitemprod.pearsoncmg.com/api/v1/print/math

{2+ ==y
~6(2) +7 =
=fLSFP =

31. Solve the following equation.

3x+5=17

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution set is {

}. (Type an integer or a simplified fraction.)

() B. The solution is all real numbers.

(O €. The solution is the empty set.

Answer: A. The solution set is { 4 }r (Type an integer or a simplified fraction.)

ID: Quick Check PF.1.8

SKEs (7
3 xth =5 = 1T
3 XL

3K - /L

-'"-'-.-___

YTy )

L] == —s

8 of 87 -
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32. Solve the following equation and verify your solution.
-8x—-1=23
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
A. The solution set is { } g )<
(Simplify your answer.) S 7)( 7’('1’7( . Z’ 3 =0 /
() B. The solution is all real numbers. 07)( — C
(") €. The solution is the empty set. -

’ ¥
— a’)( —_— e
Answer: A. The solution set is { -3 }.(Slmpllfy your answer.) — 3

ID: Quick Check PF.1.9

33. Solve the following linear equation and verify the solution. 3}(»—( Z " - X X ~f (‘r' — ; /(’f‘ 2/
3x+2+5x+4=3x+31 ¥« =+ 6 = 3 X+ 3/

Select the correct choice below and, if necessary, fill in the answer b 0 complete y ur chcnce
” g< Sx+ 2/—C

7 X

’ - )
) A. The solution set is { } 0’ £ = § Tf— ( (
(Type an integer or a simplified fraction.) P ; \( . W — 73 3%
() B. The solution is all real numbers. 2{“/ ’ ; ¢
() €. The solution is the empty set. 5 )( =
Answer: A. The solution set is { 5 } (Type an integer or a simplified fraction.)

-~

Sx = €

ID: Quick Check PF.1.11 =5

34. Solve the following linear equation.
5x-3)=20

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

0 A. The solution set is { } (Type an integer or a simplified fraction.)

3 B. The solution is all real numbers.
() €. The solution is the empty set.

Answer: A. The solution set is {, 7 }. (Type an integer or a simplified fraction.)
N i =
| S(x—3)
ID: Quick Check PF.1.14 ¢ v —/5 = 2.
AX ,_// //y = ot/
X < 3 S
Rt _5

9 of 87 7/24/2019, 11:50 AM__
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35. Solve the following linear equation andie/ﬁﬁtj;seimmﬁﬂra —=H8 A it 6 — L ; C_/)( /6 r37
~3X =% = % 3.5

- 3(x—2) -2 =4(x+4)+37

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ¢ C
=3 =5 X K AFS J=—
() A. The solution set is { } == J( T Y ¥ Y'Y
(Simplify your answer.) , - .
- : — - K il 4 — L ;
() B. The solution is all real numbers. 3x =X T ¥N -+ T 1Y%
() €. The solution is the empty set. =~ / /< - Y g
Answer: A. The solution set is { -7 +. (Simplify your answer.) o ﬂ_ ~ “(/__i
=7 =7

ID: Quick Check PF.1.15 (/)( Tim="] \\W

— — — ‘—"“'I‘_T — _.—-—E_.———F’ = = — —

36. Solve the following linear equation. Be sure to verify your solution.

0.05x-1.8=0.02x~-1.2 =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { }
(Type an integer or a decimal.) '\\ }

() B. The solution is all real numbers. \

() €. The solution is the empty set. \H

\

Answer: A. The solution set is { 20 _}.(Type%n integer or a decimal.)

ID: Quick Check PF.1.23 \//

0.05X —[oFF [¢cF = (-0 — [u2 +/[.7
O, 05 X = 0.02 x +,¢
0, 05x —Q, 02X = Qelix —+.6 — 0»%/%
' 03 ¥ = + 6
03X &= 3 &
03 .03

\_/

10 of 87 7/24/2019, 11:50 AM
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37. Solve the following linear equation. Identify the equation as an identity, contradiction, or conditional equation.
5(x+9)=5x+9
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
F ™ \
(0 A. The solution set is { }. (Type an integer or a simplified fraction.) S (/\/ 7 7/ l ‘\L/ (f

() B. The solution is all real numbers. ’S\(F y sy = SX+F
() €. The solution is the empty set. j

State whether the equation is an identity, contradiction, or conditional equation. - - <
q Y. ! qc 5 = j/’?‘ ¥ —7
CXras — 7

() Identity = —_ ? G
(O Contradiction ' ? ( - & _ __)(_ . .
() Conditional equation 09 .\/ —s X = S K- ? G— S X
Answers C. The solution is the empty set. ( @ #:- —‘3 G

Contradiction 7‘/{“ S5/ v T e r“”}//’( S +

Sofater, D
ID Quick Check PF.1. 2? UVI/WJ [ ¢ . ( V <NU o

38. Solve the following equation and state whether it is an identity, a contradiction, or a conditional equation.
7(x-2)=6x-14+x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The solution set is { ).
(Type an integer or a simplified fraction.)

> B. The solution is all real numbers.
) €. The solution is the empty set or @&.

State whether the equation is an identity, contradiction, or conditional equation. Choose the correct choice below.

() identity ()(_L ) 6 ’( */7‘ -t X

() contradiction — C )( __,/ —+ / )<

() conditional equation 7% / (// Y
TRAY = T XS

Answers B. The solution is all real numbers.
LY
identity /3/ /%/f//{ 7>( i
/ X

ID: Quick Check PF.1.28
— 7 7( = 7X=TA

) 7 X
6—=20

7 “() )J/Lal ‘[1/:\ g "/C{/ /r(" .-/f }/1 1 "‘-*‘-.? &4

SR

11of87 ' ' 7/24/2019, 11:50 AM___
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X7 <[
Gy 7{-/7’ < /99—

Select the correct choice below and, if necessary, fill in the answer box to.complete your choice. A = / /

O . /L

A. The solution set is { } (Type an integer or a simplified fraction.) z =
B. The solution is all real numbers. /7 (7/

C. The solution is the empty set. ( / 3 \\\

Answer: A. The solution set is { } (Type an integer or a simplified fraction.) _ =

39. Solve the following equation.

4x+7=19

ID: PF.1.43

40. Solve the following linear equation.
6z+5=4

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

G2 5= N

) A. The solution set is { } (Type an integer or a simplified fraction.) C _
a4 —\

) B. The solution is all real numbers. C/ g ’/ 3/ S ) '/

() €. The solution is the empty set. 6 2 — /

— %g ~/
Answer: A. The solution set is “% . (Type an integer or a simplified fraction.) y 6

]
Y N
ID: PF.1.45 \2 C: »

I

41. Solve the following linear equation.
~3w+2w+4= -8

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { o 7}. (Type an integer or a simplified fraction.)
() B. The solution is all real numbers.
(_) C. The solution is the empty set.

Answer: A. The solution set is 4 12 b. (Type an integer or a simplified fraction.)

- W 2 ¥ T ({
—(w = = f"‘—‘/
—[w T—L
— (A — ,,{ L

p——

ID: PF.1.47

12087 — = e 2473019, 11:50 AM
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- 4 ._)".’ ’ / — _— ( \_"
42. Solve the following linear equation. S ( X7 & -
5(x+2)=-20 ) ] 5

K Al S = S

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { } (Type an integer or a simplified fraction.)
— ()
(O B. The solution is all real numbers. (D )< - T 2=
/‘ -
(O €. The solution is the empty set. 5 ¥

o
-

Answer: A. The solution set is { -6 +. (Type an integer or a simplified fraction.) </ /’f/ =~k )

ID: PF.1.51

43. Solve the following linear equation.

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The solution set is { } (Type an integer or a simplified fraction.) < o (/ C D :b

() B. The solution is all real numbers.

- 7
() C. The solution is the empty set. /O 7%—{/4

Answer: A. The solution set is { 1 } (Type an integer or a simplified fraction.)

ID: PF.1.53 %’//Z) = /‘fL (/-2) - L_%.}‘//z ) b,_,
y — (1 (1) = Y(v)

"
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(Lep=2r >

-
44, Solve the following linear equation. Identif;_l' the equation as an -identity, contradiction, or conditional equation. W
. ) ”~ s '6 s“ ;
x 3x 65 )_({z.-f ) = é;ff-/zv = == /Qv )
CRr 7 6 d 4
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. )
Y (%) +3x(3)= G (1
(O A. The solution set is { } (Type an integer or a simplified fraction.) B
() B. The solution is all real numbers. ({ )( —1 c? )< = 68
() €. The solution is the empty set. / 3 X — -G
State whether the equation is an identity, contradiction, or conditional equation. ¢
' V> = ':fi__
O Identity /3 (3 —“
g — __—_'_"'“-h-..__\___h
(Cy Contradiction = — <« g
() Conditional equation — :3
Answers A. The solution set is { -5 } (Type an integer or a simplified fraction.)

Conditional equation

B ID: PF.1.69
o o Titq =2 §
2o A = 2 E— X

Answer: —7x+28 C— = < - 4

y=

ID: PF.1.87

46. Solve the equati@or y. :},

S5x+7y=23

y= (Simplify your answer.)

Answer:. 5 23
-—X + —
7 7

ID: PF.1.89

14 of 87 7/24/2019, 11:50 AM
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X +8x+ (2 ﬂz’zf)) =657 ($(5))t /
A+y = 19

47. Solve the quadratic equatlon by comp!etmg the square

N e A e A

f = (S 6 sl - — —
The solution set is X Hf’ A Pf/(, ¢ / I(EYV—»/ j’)’ — .

(Simplify your answer, including any radicals and i as needed. Use lptagers or fractions-fer any-numbers in the expression.
Use a comma to separate answers as needed.) 2—? /

| v rax /=T L V,_F g ArSis
Answer: 5.~ (f,»cf)()(f ¥)=~ 75/ / (eSe—A = A~

ID: PF.5.15 (/' o il (5/
- ___Ucrfcw—- —=/ 7

48.

finalm1314CO149sulllljj-Alfredo Alvarez

Find the distance d (Py, P;) between the given ' points P,

= I. Usr;i:/_g_

E;;E;;Z) L (/(("i) ()& = (2} - )L
mG

o V-2 %)W

d(Pq, Py) = J= L/’_ET_T—,“—‘--

(Simplify your answer. Type an exact answer, using radicals as needed.)

Answer: 4/10 J __:—6/_ _/N

ID: F.1.21 -

49. Find the midpoint of the line segment joining the points P, and P,. ( ¥ —< ) ( ' 27 ) /
P poid = / XA Nt i) Y 4

Py=(4, -5);P,=(87) _
Z

The midpoint of the line segment joining the points P, and P, is A7
—r—’
(Simplify your answer. Type an ordered pair.) ._ A =

Answer: (6,1) ( ((T’)—/' (/H) (-5/ T (7)) // ( 6 I 3 _}_\\‘

- / Z:i? }'—‘Sf“'f' 7 ,//
ID: F.1.39 = ' 2 /-—Z -

50. Solve the foIIOW|quuat|on / /7 = /| — Z,( —7
19=11+2(x - 14) /( e x =17 P
3 . ; r o
The solution set is { }- /7 -+l ’] ~ Z)('—‘//? ~+ /7
Answer: 18 2(, - 2 7(
26

ID: F2.1 -

e — "\-h_\._q_‘_ .
( [ T=X \.)
13 of 87 . 7/24/2019, 11:50 AM
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51. Solve the equation by factoring.
2% +2z-35=0

What is the solution set?

{ } (Use a comma to separate answers as needed.)

Answer: -7, 5

16 of 87
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52. — — I. ”
. Find tI@_iﬂterceptsAand use them to graph the equation.

y=2x-4

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

) A. The intercept(s) is/are

(Type an ordered pair. Use a comma to
separate answers as needed.)

() B. There are no intercepts.

Use the graphing tool to graph the equation. Use the
intercepts when drawing the line. If only one intercept exists,
use it and another point to draw the line.

Answers A. The intercept(s) is/fare (2,0),(0,—4) .

(Type an ordered pair. Use a comma to separate answers as

_le

https://xlitemprod.pearsoncmg.com/api/v1/print/math

124

| Ao

/i

ID: F.2.19
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(3%
o
-
Ty
oo
e
o

/’f-_ —__—_\‘\L

CYymix= >

ded)A /_,F,jJ,},/ /4%@)

O = LY —Y
O +Y —

2K —A+Y
ERES
g oy

= 7
=~ ;:/f ;;:\ (2/ O)

‘_/,—im

L?i] Y—tabapt L4 A=

V) = U
v 2 7% ﬂ)/""/
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53.

18 of 87

For the equation X2+ y2 —4x -8y —16=0, do the following. mj“"
(a) Find the center (h,k) and radius r of the circle. . 3:1
(b) Graph the circle. A e VR ;
(c) Find the intercepts, if any. -1 \ B+
i N 4
(a) The center is S | |
(Type an ordered pair.) 2
1 X
The radius is r= ETM T I T M T A I B
24
(b) Use the graphing tool to graph the'circle ]
__4...
(c) Find the intercepts, if any. Select the col .
below and, if necessary, fill in the answer box to complete B
your choice. ;
B
() A. The intercept(s) is/are -10;
(Type an ordered pair. Use a comma to T ) Va - ’ y’( W L(,
separate answers as needed. Type / —Lp }( ~f ‘7 - 5’ (’) = 7 G

exact answers for each coordinate,

umngradlcalsasneeded),_r B /2{_’?)) T? —i7’r/‘/ _5)) /(, 'f/('(/))‘f/j‘;f))t

() B. Thereis no mtercept X
Answers (2,4) X ’{/ 14 —7"("—2) —rj _Pf7 T ("“()L.-/(’# /Z) -f( y)
6 ( Y X TN ) =17 1/6 Jo~tY¥ 7/ &

Ay
10+

é(*?/(x’t) ~+ (9= )(9-7) -
() “#(9-9)= 36
(e < (Z/ 9)

> ﬂb/(us ’:(ﬂ?—': 6

104

A. The intercept(s) is/are ' (2-245,0),(2+245,0),(0,4-442),(0,4+442) 1L
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,
using radicals as needed.)

ID: F.4.27
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54. Solve the inequality 11 — 2x < - 1. Graph the solution set.

In set notation, the solution is {x| . (Type an inequality.)

Graph the solution set. Choose the correct graph below.

O A, ettt ——————- () B, € |
-9 6 -3 9 6 -3 0 3 6 9

21 -18 15 -12

O €. <ttt f— () D, €A —
0 3 G 9 -9 -6 -3 0 3 6 9

ID: 1.1.4

//‘-2><__<' — if
Wrre < @ —I —
=1l ¥ < — (2

:;(\\/!\/t\ [y" c«\
//)’(jc-f-w'i ‘L/(

'/{/\/rl a ///} < “L/
Gr guad

O

190f87 7/24/2019, 11:50 AM
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e i g AT K
55 Find the following for the functi@x)=4x2+3x—2. 3 f(()} -T ?(‘fr‘)L‘?"yu} E "'i N oz
MRy g e ) e e A D =1
(a) f(0) (b) f(1) (c)f(-1) (d) (- x) - )= e
(€) - f(x) (f) f(x + 3) () f(5%) (h) f(x+ h) /(«-() 2 ¢ (-1)=+3¢1) ‘C/

— Z’ \-- :..'.-z_
@fo=___  (Simplify your answer.) 7[(*7‘) = YO tT3FX y, ™
=)o) 43 X)L
| (Simplify your answer.) = =

iy D= Yyl —3 x=3

(c) f(-1)= (Simplify your answer.) ; /(/(J = —( ¢ )( L./ 3)(,._ L) e
(d)f(-x)= | (Simplify your answer.)  -— éq QV X L -3 Xiﬁ) -
(e) —f(x)= (Simplify your answer.) ﬁ{%) - df(/—/’S)—L‘(’g ()(—f 3 ) — L

(f) fix +3) = (Simplify your answer.) K £3) 2 ¥ (e )(x23) + 3 ( Y~+3)— &

. y—E&_
(9) f(5x) = (Simplify your answer.) %.}({5) = (X’L—rgl,( 3/*('7’) + 3(/('1‘3 )

= 3 , a) —d
(h) f(x+h) = (Simplify your answer.) //(f(‘f'b) = ('L(X —f(,,/—r—?)—f Z()('f}

—é\ K/ ?) = le—-r-zk/'f—-{"BC"f'BX/'ﬁ,}ﬁz“
Answers -2 {6;;/5 H;*-x '()(—f")) - (/X'f_f 27 A~ VD__é//\H,__
5 - —~L ; : 4 i
. %Zf)mi{?(( o e X Hoeety = Oth) S+ (fth) ~ 2
ax - 3x-2 @1—'{'/5’)( —7 k- //(X'—f‘l) = C//Xff/\) /Xr(} b = ?/)(—fé)'—z—
Hkth) = U ixhe b+ £ +3(x04) —

4P +27x+43 _ f%i(/f*_wri@—f/) —2_
100x° +15x - 2 _/[(/(“"/\) < (f)/l"‘f cff)(}n"r’(( A( 7’5)(”(“317
A,

4x% + 8hx +4h° + 3x +3h - 2

ID: 1.1.43
56. Find the domain of the function. = fﬁf}/ﬁ&
f(x) = 4/6x - 30 / h 14
The domain is | .. (Type your answer in interval notation.) 7[
e S0\ [ Aatr
Answer: [5 )LM b3 27 -
nswer: [5,00
6X~%g43 6= O 30 Ak AXIB =5
ID: 1.1.59 _ _é>/_,3 2 o _ B
Gt~ 3=

= =
o _25“

e af &
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57. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain. (l \
, G = . IMtan |
f(x)=5x+8; g(x)=7x-6 M T I - / | .
(a) Find (f + g)(x). ( Sr§) T (74~¢) A | L ~, 7, )
53 g + 7 X6 —L// \ \\ 2 L
(f+a)e) = (Simplify your answer.) - 7 - — L N —
I y /

21 of 87

What is the domain of f + g? Select the correct choice below and, sf necessary, ﬁlI in the answer box to complete your
choice.

) A. The domain is {xl b
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(O B. The domain is {x| x is any real number}. /4 = //X/ z kf:"k J 6w \
(b) Find (- g)(x). (5Xry) ~ ¢)- B . )
f-g)x)= (Simplify your answer.) f’( "/ / e / X7 Q / '

e SR

What is the domain of f- g? Select the correct chmc:ég belew and nknecessary fillinthe answer box to complete your

choice. J’-ﬁ)() . j/,(/ - | k e .
O A. The domain is {x| g X f)('/’("(’) = (\ /)d WB
e

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) )/L — 307& - $6 X — y f
(0 B. The domain is {xl X is any real number}, _—— l/{/

X 6 X —~4 7=
(<) Find (- g)(x). N Bf fr 26 X —~¢% 7
(feg)=| | (Simplify your answer)

What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

f [,
A. The domain is {x| } /'[/*’(} o
(Use integers or fractions for any numbers in the expression. Use a comma to separate O Za IR S 4

answers as needed.)

, ~ AL
B. The domain is {x|X|s any real number}. E-—)—(i /"/,J ks ) ﬁ) (//£ , I'
i (2 {20, V(5 7),
(d) Find (5] (x). LN

f
(5] (x)= (Simplify your answer.)
f - . .
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x - }
(Use integers or fractions for any ‘numbers in the expression. Use a comma to separate
answers as needed.)

B. The domain is {x| x is any real number}.

(e) Find (f+ g)(3).

7/24/2019, 11:50 AM
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(f+9)3)= (Type an integer or a simplified fraction.) (/"f ?)/J‘/ l2xr
(/—rg,/(%/ 1203/7 L
Fra)3)= 2L

(f-gy4)=__ (Type aninteger or a simplified fraction.) -
/ 79 ) (}/ //L-/

(g) Find (f- g)(2).
f+g)(2)= T int implified fract ’é ])‘6‘/1 = <% ’{_'f/ 7
(F+g)(2) = (Type an integer or a simplified fraction.) - (Cf )z =2 s |-/

)(t() —37/%’/'
(,_, "})(L{/l G

(f) Find (f— g)(4).

[T
(h) Find [g]m.

(é} (M= | (Type an integer or a simplified fraction.) / [X’ 3.}, )( —f’ Z(, A - Y 7
( 20(2) Y8
/ 55’( 7)==t ”
Answers 12x + 2 Z)(’L) s Z(,(L /V d
B. The domain is {x| X is any real number}. (2) 3 ( Z ’L/ Y
-2x+14 = /9’/0 / S

v )_;,
_ %’2 € /</s/

B. The domain is {x[ x is any real number}.

35x° +26x - 48 , ——
B. The domain is {x| x is any real number}. (ﬁ )5/) - S_)i/ﬂ
(2
= AP 18
6 |] (ZE) ( 1) & ==~
A. The domain is {x| ; x# = " j

(Use integers or fractions for any numbers in the expression. Use a comma to SBIT?‘SWG"S as needed.)
r

: i

; 3
- Lm=T
ID: 1.1.67 W

58. f(x + h) f(x)
Find the difference quotient of f; that is, find ————, h#0, for the following function. Be sure to simplify.

) =x° - 8x+4 (@""/‘) éf(/x’fré)-f‘/) "'()( IX+Y) N

foceh) = ) _ _()(f“ {X’,/‘) _J)/ ThtY X ‘o U= —

h

o . i
Answer: 2x+h-8_ )/"/')(l“"f Xl\+b4LA'7h +$’ "”>( "fi)( S/ =

ID: 1.1.83 2 X h—+ V}‘(- ~ {4 i —_—
h £ A~ =T

7 s l) —
72412019, 11:50 AM
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59. Using the given graph of the function f, find the following.

3 N
<Y
(/1 (1) L//e:ven 3 ==

23 of 87

(a) the intercepts, if any
(b) its domain and range

(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither

(8) What are the @f,r::&ptS"

»)/;,1!:/(-(.;: /"Z o

choice.

. SN (¢0]
() A, The graph is lQEreasi/ng on Vi .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(0 B. The graph is not increasing on any interval.

/)/\

e

(20) (O/L

(Slmpllfy yomﬁSWer Typean Ordered p:fr Use a comma to sep-arate answers as needed.)

(b) The, omaln |§ | -3 é’d’j@/}? e f“)& ?‘/‘C
(Type y er ininterva notatlon) (2

Theml \ [0 3l. ..4_’/’] %{&)LLJ 71 ‘*’““
(Type swer in interval notation.)

TN

y

(23§

https://xlitemprod.pearsoncmg.com/api/v | /print/math

7{)} ik 4]

T “orf’j

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice.

(O A. The graph i{dec;e\a% on [‘ %/
(Type your answerifi interval notation. Use a comma to separate answers as needed.)
B. The graph is not decreasing on any interval.

»-;YU(UJ 2\

On which intervai(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A. The graph is constant on

- ~(Type your answer in interval notation. Use a comma to separate answers as needed.)

\_‘-“r B. The graph is not constant on any interval.

e

(d) The functton is (1)

{_} neither odd nor even.
odd.

7/24/2019, 11:50 AM
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Answers (- 2,0),(2,0),(0,2)
[-3,3]
[0,3]

A. The graph is increasing on [-2,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on | [—3,-2],[0,2] |.
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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60. For the graph of a function y = f(x) shown to the right, find the absolute maximum Ay \3 w
and the absolute minimum, if they exist. Identify any local maxima or local minima. Lo
(1.6)
14 (4,3) rL R4
A
(3,2) o
— 461} 5
t’ Ji B

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A. Thp-a‘bsblute maxim_u_r_1“7fnf y =f(x) is f(
(Type integers or simplified fractions.)
B. There is no absolute maximum for y = f(x).

0t (ly6)

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

O A The absolute minimum of y = f(x) is f(
(Type integers or simplified fractions.)
B. There is no absolute minimum for y = f(x).

0= (6, 1)

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

O A Therlﬁé’éi_rﬁg_xir'n_pﬂrﬁ of y=f(x)is f ( L_f

(Type integers or simplified fractions.)

B. The local maxima of y =f(x) are f(

f =

ot (c// 3 )

and

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

O A. Thedocal minimum of y = f(x) is f 5
(Type integers or simplified fractions.)

B. The local minima of y = f(x) are f(_

( )-

ot (%, 2)

and

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).

Answers A. The absolute maximum of y = f(x) is f('

1

(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f(

6

(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f(

4

(Type integers or simplified fractions.)

A. The local minimum of y = f(x) is f('

3

(Type integers or simplified fractions.)

25 of 87
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61.

27 of 87

For the graph of a function y = f(x) shown to the right, find the absolute maximum Ay oy
and the absolute minimum, if they exist. Identify any local maxima or local minima. 8+ (4.7)
41(0.3)
(6.3)
(2,1} x,;
A a1 4 8
W "

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

A Teabsouis masmimory=wsr( S )= /S 7

(Type integers or simplified fractions.)
B. There is no absolute maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

7 A Theabsolute minimur of y = f(x) is f( L )= _ 0 ( )/ )
(Type integers or simplified fractions.)

(O B. There is no absolute minimum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

& A. The'local maximumof y =f(x) is f( /s )= 7 . C,J/ ( y S /
e e mire! . . ’/ g
(Type integers or simplified fractions.)

© B. The local maxima of y = f(x) are f( ) = and

( )-

(Use ascending order with respect to x. Type integers or simplified fractions.)

() €. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to complete your choice.

& A Thé’ibéfm?n}%@quy=f(x) st )= f . (f}/ﬁ (Z ) / )

(Type integers or simplified fractions.)

B. The local minima of y = f(x) are f( ) = and

f( ) =

(Use ascending order with respect to x. Type integers or simplified fractions.)

C. There is no local minimum for y = f(x).

Answers A. The absolute maximum of y =f(x) is f ( 4 ) = 7
(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f( 2 ) = 1
(Type integers or simplified fractions.)

A. The local maximum of y =f(x) is f( 4 ) = 7
(Type integers or simplified fractions.)

A. The local minimum of y = f(x) is f( 2 ] = 1
(Type integers or simplified fractions.)

7/24/2019, 11:50 AM
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62.

29 of 87

(a) Use a graphing utility to graph f(x) = x3 - 5x+2 on the interval [ - 2,2] and approximate any local maxima and local
minima.

(b) Determine where f is increasing and where it is decreasing.

(a) Using a graphing utility, graph the function for =2<x<2 and -4<y<10. Choose the correct graph, below.

&, s

) A, ) B.
b : /
= ~_ / .
E N7 b o
‘\.‘_\_—_____,_/,--(
- . : 20)
Ther@Misyz é-,j‘:'anditoccursatxz "('Z‘l 0< K-/°2’ é‘

(Round to two decimal places.)

Tlle-‘foEEl_?n?myz —2 o2 |anditoceursatx~| [, 2 G L &)ﬁ/ (fo Zq) MZ"}O)

(Round to two decimal places.) '
N
(b) Where is the graph of@ing? ) /. Ce / c. 14
' o grefin)
us> J
O [~2.30,6.30] PR e
€ [-2,-1.29]and [1.29,2] - s ‘,\,;.-r,u ‘;,n . P~ \
) [-2 -1.29] and [~ 2.30,6.30] ' f r _ 9
O [-1.29,1.29] X” /’AKJL - f
(Choose the answer that most completely answers the question.) \{
W, e
Where is the graph of f decreasing? v /V)’) Iy
\ o Tdereas J o
() [-2.-2.30]and [2,6.30] o ;/ALL)( =
(@7 [-1.291.29] \Lﬁ | "
) [-2.30,6.30] —— #—.————~. _ S
) [-2,-1.29]and [1.29,2] g 2, "g J(s L 7 \
t6n) T X T

(Choose the answer that most completely answers the qu
-

Answers
— o=
c. — ____, \;{.5_.-{ ( '

6.30

-1.29
-2.30

1.29

[-2,-1.29] and [1.29,2]
[-1.29,1.29]

ID: 1.3.567-GC
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63. The function f is defined as follows.
-2x+3 ifx<1

2x—1 if x=1

)=

(a) Find the domain of the function.
(b) Locate any intercepts.
(c) Graph the function.

(d) Based on the graph, find the range. C / "/ oA rl é 4 j
e & of & y)
(a) Tee/dopnl&iu}f the function f is E ! ;\f )
(Type your answer in interval notation,)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
O A Thqfﬁte}é‘;;?s) is/are C }) Y- l”f(""b//r

(Type an ordered pair. Use comma to separate answers as needed.)
() B. There are no intercepts.

(c) Choose the correct graph below.

(O D.

(d) Thgié::;egiﬂhe function f is t l | 42" ) 6——5 [ écﬁf;{_..-‘"v\) 7/6 ia,z

(Type nswer in interval notation.)

Answers (— 00,00)

A. The intercept(s) is/are (0,3) . r \

(Type an ordered pair. Use a comma to separate answers as needed.) /

N [./'V' ‘\—/Uv\/ \/I >0 j v )ﬂ/"‘j /
o Nc el bl

)(f“"l’wlv.{ - =L
X —rux = (L

B. >
P
fe) [ Y L ]
*7/-/’”4)( - /2 2w/ D =y
ID: 1.4.33 7 P e
L (ﬁ"u‘ ¢ =

- =2 A3
7! ) . ;l(" 2w D Pl T
\? — x’,..__....,i ”""‘/)( )(C:/((/
¥ 1
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64. The function fis defined as follows.

3+x ifx<0
f(x) =
2  ifx=20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@ Th@bﬂhe function f is 4;1-25,./ o :,) £ ép,[,(_) & P /\_{/j

(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

= \ _ \
O A The@) is/are ["3/()) /U_) 9

(Type ered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A O B.

(d) The range of the function f is é?c?: m) <& LMJ f"fﬁ"‘-) fT" V‘_l
(Type your answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are | (-3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

Oulm(/ﬂw‘
\ X—min = — (7

: /! X~Mcy = /L

& S Y =~

o A Gemeg sl .
) n S« iy
ID: 1.4.37 ' AN P

N = _. . AP — e pfe—
n - }fx/”E:ZXQﬁ)) Ure .
.. ! om0 AN |
K \4 B >//L _L [%% W ) ( /3;.5_; ((/CL 3
) — : .
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65.
Graph the following function using the techniques of shifting, Ay

compressing, stretching, and/or reflecting. Start with the

graph of the basic function y = x% and show all stages. Be 1,
sure to identify at least three key points. Find the domain
and the range of the function. 12-

fx)=x° + 12

Which of the following transformations of y = x% need to be e

i i L] LT ; ]

-12 = 4 8 3 0
applied to graph f(x) = x> + 127 Select all that apply. 4| =6 il vy = Ty e |2
[] A. Reflection about the x-axis 8
[7] B. Horizontal compression 4 J_

(¥ C. Vertical shift 1
e il -1 6'_

(] D. Horizontal shift
[] E. Horizontal stretch 204
[J E Vertical compression

[] G. Reflection about the y-axis

[(] H. Vertical stretch

Use the graphing tool to graph the equation.

Fill in the missing coordinates of the points that lie on the
graph of y = X and the corresponding points that lie on the
graph of f(x) = x° + 12.

Corresponding points that
lie on the graph of
f(x) = x> + 12
(Type ordered pairs.
Simplify your answer.)

Points that lie on the
graph of y = x?
(Simplify your

answers.)

(-2, )

(01 ')
(2, )

The domain of f(x) is (’90 oo }
(Type your answer in interval notation.)
The range of f(x) is { f L, )
(Type your answer in interval riotation.)
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Answers C. Vertical shift

(.'"Z_)/(,) _
(r"'l'.}’}j 1 :

(-2,16) ; k/,.;/q/. i ,_/ L-" G N /

1)

0,12)
4 vﬁm ' "E /Z() J ( v ( [ .{—:, f_,
(2,16)
- ")
o \ g 1A
N
[12,00) B

pavis AN __

ID: 1.5.39-Setup & Solve
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66. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F(x)=1f(x) +2 (b) Gx) =f(x +5) (€) P(x)= - f(x)

1
(d) H(x) =f(x +2) - 3 (e) Qx) = Ef(x) (M a(x)=f(~x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x)= f(x) +I_2_halow
'1/ '”x\
’/@4 wo QO 6. ) D.

(d) Choose the correct graph of H(x) = f(x + 2) - 3 below.

o LD
1 A / .,/ m G‘é" i D,

ot

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

A. R e N,
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(f) Choose the correct graph of g(x) = f( - x) below.
— iy _"-1\_“__

O B.
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Answers

ID: 1.5.63
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67.
(a) Graph f(x) = |x = 4| - 2 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 1'.}-.
that lies below the x-axis. n
(a) Graph f(x). G-.
(Use the graphing tool provided to graph the function.) 4'_
(b) The area of the region bounded by f and the x-axis that 2#, N
lies below the x-axis is | | square units. ( i I r —t——t—p—r—y sty
(Simplify your answer.) {0 B & =, =2 3 ¢ 1 & & 10
-4
-
|
“B-
A0
b\_‘__l (e r'{ L¥ -'U
Answers X/, -y I —_ I L
(— ey T “‘x]
Y~ i =7
[
: 1 U /—/'V' “)( - /
LJ,-,*,*]L&@%P“ (OJU 4 / - ) S ') ;
i 8 ‘ /
Uy SCepto
Coal e
3 WA 1
10- \%
“ /
(I
s b, 63
ID: 1.5.81 \7/ . / / 24
) g
‘7 | - A é S ( ¥ _, 7
.' : ) % CLUW 4
gy Ropt T gt S
h -
,’/’
_,--"//
P an =—— o - o e —— —_—
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68.
Graph the following linear equation.

y=2x+3

Use the graphing tool to graph the linear equation.

Answer:

https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

R——
6 8 10 12

27
2
do
&y
L
[
Ry
e

ID: 2.1.1
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69. Find the slope of the line joining the points (0,2_)_571'3“{'3:2).

O, %) aA 2)
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

¢
, /;p? : ( 7 ) / Z
O A. The slope is 4 ) ’ j’)
(Simplify your answer.) ( v
(1) B. The slope is undefined. / @ _‘_f__’ -2
"7 0— 3
Answer: A. The slope is ——:— ~.(Simplify your answ‘ér.‘}
/= -3
ID: 2.1.2 : .
"'L_‘_x__ — = ’/_/_,— / = —
70. Solve the following equation. oL - [ | &0~ | Los = —'2 X A TueoA ]2
60x - 1100 = — 25x + 4000 G = —2w ></ ~+ S/U9 ‘
A= UK = =2 —r St f EFX
The solution set is | b, 60’( _t, (e = _‘1_‘ X —7 S/ y
(Simplify your answer.) X{‘}( = S @Y
Answer: 60 5 M - ksj__‘;.___‘A_./
1 ——de
ID:2.1.4 — )
o ymee>
T i =x2-2, find (- B). - B
| < xt -1
f(-8)= 5
A-p) ~ (8 —
Answer: 62
//(#Z)) = ( J?)(’"ﬂ
ID: 2.1.5
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72.
A linear function is given. Complete parts (a)-(d). Oar.y
10
f(x)=3x+5 ’
5
(a) Determine the slope and y-intercept of the function. B-
The slope is . "'_
(Type an integer or a simplified fraction.) 2]
The y-intercept is k . . . r— —r y ; . : x;
(Type an integer or a simplified fraction.) il ol B 2' < : o= g
(b) Use the slope and y-intercept to graph the linear |
function. “‘i
Use the graphing tool to graph the function. Use the slope ;’i
and y-intercept when drawing the line. .8
(c) Determine the average rate of change of the function. -10—‘

The average rate of change is

(d) Determine whether the linear function is increasing,
decreasing, or constant. Choose the correct answer below.

() A. increasing
(O B. decreasing
() C. constant

Answers 3

5

3

A. increasing
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ID: 2.1.13
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73.
A linear function is given. Complete parts (a)-(d). Jr\_-
10
fi(x)= —4x+2

8.
(a) Determine the slope and y-intercept of the function. 6=
The slope is ‘l“l
(Type an integer or a simplifi ed fraction.) 2.

The y-intercept is —r

)
&
&=
g
B
e
=
o
=)

(Type an integer or a simplified fractlon ) 2'
(b) Use the slope and y-intercept to graph the linear i
function. &l
Use the graphing tool to graph the function. Use the slope 'ﬁf
and y-intercept when drawing the line. 4
(c) Determine the average rate of change of the function. -m-“
The average rate of change is
(d) Determine whether the linear function is increasing, r N - — (f ,( —+ L
decreasing, or constant. Choose the correct answer below. 'r'[ X ] -
|
() A. increasing i {/( = o /- / 7 Y
§

(O B. decreasing s 7 >< /'r’ )
() €. constant ,[(U ) - U =

o )| £

Answers -4 /[(O? =L J “”"F-Hi y
2 K Z_

-4

B. decreasing
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ID: 2.1.15
74,
(a) Find the zero of the linear function and (b) graph the Ay
function using the zero and y-intercept. "ff
104
g(x)=9x-9 ]
8-
(a) The zero is . o
(Type a whole number.) 44
(b) Use the graphing tool to graph the linear equation. Use 2'. X
the intercepts when drawing the line. B e L e e e . T
42108 6 4 2 1 2 4 6 8 10 12
s
=~
-6
B
A0

Answers 1

ID: 2.1.21
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75.
(a) Find the zero of the linear function and 1\y
(b) graph the function using the zero and y-intercept. 12_]
10
gx)=-3x+9 i
B
(a) The zero is . G",
(Type a whole number.) 4~
(b) Use the graphing tool to graph the linear equation. Use 2"_ .
the intercepts when drawing the line. Py Tt o T e e T
1210 -8 6 4 2 4 2 4 6 8 10 12
2
‘4*4
-6~
B
A0-

Answers 3

ID: 2.1.23
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76.

45 of 87

Suppose that a company has just purchased a new g{x}
computer for $2100. The company chooses to depreciate 28004 0\)')
using the straight-line method for 3 years. (0)

(a) Write a linear function that expresses the book value of N
. , L9
the computer as a function of its age. }

V(x)=|

(Type your answer in slope-intercept form.)

(b) What is the implied domain of the function found in part
(@)?

140

Book Value (dollars)

(Type your answer in interval notation.) 20 .

(c) Use the graphing tool to graph the linear equation. ] .

(d) What is the book value of the computer after 2 years? : (3 ¢ )
)

$“—' s T T . e | g’)‘(

(Round to the nearest dollar as needed.) 0 1 2 3 5

(e) When will the computer be worth $1400? ‘I}A’/ Age (years) () )
After year(s) the computer will be WDXI - ‘\I‘ /} /
?T1400- NPT f() 2(04) A 3/ d) [ ( (2/ 03] )2 (x’f-(ﬁ’))
ype a whole number. \/ Z/Vyt ,5)
- — AL __ y P (0) /(

Answers —700x + 21 00 2/ - ()(,-—
’f"'-"_
[0,3] \b&
‘\\

2800

2 1b9)
(0¥

14004

Book Value (dollars)

A

Age (years)

700

ID: 2.1.51

7/24/2019, 11:50 AM



finalm1314CO149sulllljj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

77. ( Factor)He given polynomial completely. If the polynomial cannot be factor@&way\\at it is prime. % 5 S',/? /'“'

M‘x +Ox+14 —_— <6( —~ Z){(f’ 7%.

Select the correct choice below and fill in any answer buxeamtmn\your choice. A<
L ( X~ 7) =

OA 2iox+14= ()( J 2 i s i 2

() B. The polynomial is prime, )( ¥ 7 M XU

3 N
—e " - Suln =
Answer:A.x2+9x+14= (x+7)(x+2) )/ f / / // f’f -

(f_ J C/
ID: 2.3.1 o O .

78, s’cﬁ\éthe equation.- e =) /V" & (j/L ’ \ ( -

(x=5)(2x+1)=0 Ve S TS Oj,/g 2= = - (
The solution set is {]:\} (Use a comma-to: sepat@jganswers as).n/fded ) Z )(

( iy
Answer.5 1 Q’,/ 2)< . :__(

-

2

ID: 2.3.3 >( - \ \/
— = RN = =___

79. Find the zeros of the quadratic functior(.b y factnrigg) What are the x-intercepts of the graph of the function?

F() =% +x-20

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

() A. The zeros and the x-intercepts are the same. They are

B The zeros and the x-intercepts are different. The zeros are , the x-intercep
are ¢ s ] [(
Answer: A. The zeros and the x-intercepts are the same. They are -54 .
A A 1
X = X/’“éo":g:)
ID: 2.3.17

=) (X7 =
— & =0 o )(7‘3 = ¢ _
K-y +LZ07 Oa Xts=§= O

T
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- Byt —y =2 =

80. Find the zeros of the quadratic function b, factonng Mhat are the x-intercepts of the graph of the function?
il —t’/ = U
g(x)3x—x2 ( >X "/()( !>

\1 =4O (j/’( i ,\/ - = ¢

Select the correct choice below and fill in the answer box to comp! ete your choice

(Use a comma to separate answers as needed. Type an integer or a simplified fraction ) P . R
dga X—(+ l =57

. The zeros and the x-intercepts are different. The zeros are , the x-mtercepts

LA are . 3)(»#2—8 *\—)

() B. The zeros and the x-intercepts are the same. They are 3 .\_/ - 0 (///

BX =
2 3 _3

Answer: B. The zeros and the x-intercepts are the same. They are e B - 3.
Sl ¥ T )
L

T+

ID: 2.3.19
V. ——

/""_ﬂ_:—h”‘
81. Find the zeros of the quadratic function u flng thew@wmt are the x-intercepts of the graph of the
function? (L/#f ) —_ =0

g()=(x-1)*~25 (X’—"f.- = L

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) 7 + [/ 2¢

) A. The zeros and the x-intercepts are (the same. They are

. The zeros and the x-intercepts are different. The zeros are , the x-intercepts
) B are . Y”’l"— ~+ < -

X—(=-5 o A==
Answer: A. The zeros and the x-intercepts are the same. They are 6,-4

X=(~ (== o0& x-
D:2.3.29 ( Xz /’//CNL X< G & ——

A ;(L-’J‘,

e
82. Find the real zeros, if any, of théq/ adrati c_@g@on using the quadratic formula ‘What are the x-intercepts, if any, of the

graph of the function? X, lo tk/z,l A —————
R T T T
f(x) 5 x° +sx+4 (6 Yty &) ~—~/(: Ny )
QaZl Ei

Select the ebrrect ch’mce below and, if necessary, ﬁﬁ in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use lntegam.or_tracnons_fnr_a_ny numbers in the expression. Use a comma to

- - ¢ —, L
separate answers as heeded.) X 6 3_, It, B 5 WX ) _fs + / ‘/
pts

The zeros and the x-intercepts are different. The zeros are 1 x-{nter

OA ‘ X - -6 tYTo ' Y= ~% T i /

(") B. The zeros and the x-intercepts are the same. They are .
() €. There is no real zero solution and no x-intercept. , . _ - G =+ f‘/

X‘L

Answer: B. The zeros and the x-intercepts are the same. They are =3
X< —6tVs Ve

ID: 2.3.39 -

-6 TV i — ] -
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83. Find the zeros, if any, of the quadratic- ﬁ.mcticn*usmg_tﬁ quadratic formulyWhat are the x-intercepts, if any, of the graph
ofthefun |on?
ofthefndfon? = (o (G) + /(e LT)
() = 2+ it ” (1)
Yewi\

7{( < Select){he correct)s:h'mce below and, if necessary, fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use mtege r fractions for any numbers in the expression. Use a comma to
separate answers as needed.) X - T }C/_L

. The zeros and the x-intercepts are dlfferent The ze%s are A(; x-mtercepts — 5 | 7 )
A 4 s
are . )({’6 -(IZJ_ (?’)

() B. The zeros and the x-intercepts are the same. 'l‘h'ey are

finalm1314CO149sulllljj-Alfredo Alvuqf —_ é t {[é, < - C \. ‘Frhups AIxl lcmprod pearsoncmg.com/api/v1/print/math

() €. There is no real zero solution and no x-interce;
X - -6t/ ¥
('f

Answer: B. The zeros and the x-intercepts are the same. They are

“

ID: 2.3.47 ,&/’" 22T !

= — _.(?_ -~ _'_'_'_'_'_.___ e — — .

Waﬁmﬁmmmcj you wish. .mmmm raph of

the function? C\/“)) b’: l"j C - —f(= )/,_ 1 ,-r(/ / & 5«'(( 76/ ,\_E_

G(x)=10x? +21x - 10 24 7 _

21) 1) 1)
2 (79)

Select the correct choice below and fill in the answer box to complete your choice./v,': -

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

" are

(Simplify your answer, including any radicals. Use integers or fractions for any humbers in the expression. Use a comma to

separate answers as needed.) }/: _-? | "f_{/ ?t// f ‘;‘L'/L}

|
N| o
anN

Answer: A, The zeros and the x-intercepts are the same. They are
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85.
a. Graph the following function using transformations.

b. Find the real zeros of the function.
c. Determine the x-intercepts on the graph of the function.

2
g)=(x-5)"-9
a. Graph the function using transformations.

b. What are the zeros of the function?

L

(Simplify your answer. Use a comma to separate answers
as needed.)

c. What are the x-intercepts?

(Simplify your answer. Use a comma to separate answers
as needed.)

Answers

8,2
8.2

ID: 2.3.89
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86.
a. Graph the following function using transformations. Ay

b. Find the real zeros of the function. 18-
c. Determine the x-intercepts on the graph of the function.

= A(x -6 - 12
f(x)=4(x—-6)" -4 10]

&

a. Graph the function using transformations. 6+
4

2

b. What are the zeros of the function? ;

| o i 0 L B e LS L LIRS S

18-16-14-12-10.8 -6 4 -2,] 2 4 6 81012141618

| 4]
(Simplify your answer. Use a comma to separate answers &
as needed.) -8
104
¢. What are the x-intercepts? A2
A4
: | 16
(Simplify your answer. Use a comma to separate answers -18-
as needed.)
Answers
)f:—l l/fl(-\
18-16-14-12-10 -8 -6 -4 -2,
0]
_12..
144
_155
$
(¢ -\,6/?'(}"\/
7.5 —
)({m 1) /1 |
7:_5 " , L \
- X ey )
ID: 2.3.91 7//4';:«)‘-' .
5 7//1’( C )( = /‘) _
) P ( '(c(cl(c'Lr‘
\A /[ : (- j 7 . _ =
G- 4 (=) —

S =
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87.
a. Graph the following function using transformations. Ay
b. Find the real zeros of the function. 18
¢. Determine the x-intercepts on the graph of the function, :‘i"
= - 2(x - 6)° 12
Hx)=-2(x-6)" +8 10]
E
a. Graph the function using transformations. &
4
24 .

b. What are the zeros of the function? S IR ——— | | E———— E .
-18-16-14-12-10-8 -6 4 -2,] 2 4 6 8 1012141618

| -4+
(Simplify your answer. Use a comma to separate answers -6
as needed.) -8
-0
c. What are the x-intercepts? A2
A4+
. . 6
(Simplify your answer. Use a comma to separate answers -18-
as needed.) p ’ )
S mexX )
Answers ky  / 4 P
IB-? d V(T/ R 1 7{”“
16: B =
14~ P
121 (I ‘Z)
104
8
6=
L . ) 4
—_—| Y (7 ) 2:
Y=l [ 1)95

I - LA § | R ] ﬂ‘I L |
18-16-14-12-10 B -6 -4 -2,

.4:
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88. Find the real solutions of the following equatic;r;{;)( _(_\ 3)(}){ - o )= o
SN = N s-7 Fo
X435 0 =3 OR

Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

YUx T-3 O SXUALTu7T

20x% +7x-6=0

) A. The real solutions are
(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to
separate answers as needed.) ?7( o 3 d rz S‘ X = 2.

> a2

() B. There are no real solutions.

——7 ™
<2, )
| 32
Answer: A. The real solutions are -
' 4’5
(Simplify your answer. Type an exact answer, using radicals as need :‘t:!m-comﬁ_am//s:parate answers as
needed.)
ID: 2.4.2 - - B
89. Match the graph with the following function. b) T, [r (,k..-).-?,t— (0 | [ ) .

. :
0 = 2041 _ Koinlerwnn (i, o)/)

Choose the correct graph below.

O A O B.

oo Wb (1,07

/7’] l; 71 "J,}

ID:2.415
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= = n L - U ) N,
90.  Match the function f(x) = x° - 6x to one of the given graphs. ; V7 F ( )

S — i
e correct graph below. )( e | ~V + (O 0 ) \
= leropl L(, 0)

ID: 2.4.19
ot Determine the quadratic function whose graph is given The quadrat!c functlon which describes the g|ven;;a\;)r1 is
below. f(x) =
(Er)?pe an expresswn) 1 (\ﬁ’c” ng i
Y < a ( X/fli) +C
( )< d()("l) e
- B - —
/ A Wl (O/’ ()
[ )
i, . » 1 jl < /
i i - ‘ @( 0~
Answer: 42 _ 4 — 1 /], . \i ) a (/1 ) \ -
I o
ID: 2.4.49 N \ 7 o (-1 )
\)' 1({/?4(:2 T l - a1 —S
T ST ‘e
7
5) |
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US( Svephs Coleily,
92. Find the complex zeros /of,the quadratic function. Graph-the function an?;f_[the intercepts.. e
f(x) = x° - 8x + 25 77 < X 3/( 25 !/,)
The zeros of the function are :

(Simplify your answer, including any radicals and i as needed. Use integers or fractions for any numbers in the expression.
Use a comma to separate answers as needed.)

Choose the correct graph below.

) A

-~

ID: 2.7.13 o=/ ,7 ~ -Z_J _C A
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93. Solve the following inequality. Graph the solution set.
7x=9>33

The solution is ;
(Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

Choose the graph of the inequality below.

Answers (6,00)

€ - ——_—

A -12-9 6 3 0 3 & 9 12

ID: 2.8.4

“"-—_

Answer:

U)( bréwlq,,‘/ L C( Cw (Lid

"%,mu/ J b ‘b s
L

ID: 2.8.6 | - | _ | t dés ()(—{; X)/
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r > { _ =
2 ()= 369 +2(-v)+&
5. Find (- 4) if f(x) = 3x> + 2x + 8. /(ﬁ “)- 3(~vX-<) ¢ (v )TE
f(-4)= (Simplify your answer, Type an integer or a fraction.)
A (,) (/(,) T w)rg

Answer: 48 /( V)} 3/ E— J/f ‘7/
CF) = P22

ID: 3.2.1

96. Use the rational zeros theorem to find all the real zeros of the polynomial function. Use the zeros to factor f over the real

numbers. / uSs / o
f(x) = X + 7x> - 49x - 55 [;_
BT v i
Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answer.
TEY
O A. X= — + I

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a comma to separate answers as r¢ o+ '

) needed.) CTS ¢ ) - ;f) -2
(_) B. There are no real zeros.

Use the real zeros to factor f.

f(x) =
(Simplify your answer. Type your answer in factored form. Type an exact answer; usmg\adlcals as needed. Use integers
or fractions for any rational numbers in the expression.) s )
Prog XE e
Answers A.x= =11, =1,5 | r’Vl 5(’ 5 }f) f{(-'fi‘k CLlUi _,g-)»‘
(Simplify your answer. Type an exact answer, using radicals as needed Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)
(x+1)(x + 11)(x - 5) i | | —71 X
B _( 0 ' Y
ID: 3.2.45 B | ¢ —5 S G> )

—

X'i—f(!; VA 3

(— ) K —+Il) =
_ -5 on
)( /,//,u/() ()1

— 0"/? )(/ _/’}
C/ X &

f/(/"’

)(—f// — /(= o/

w-w/

[ =1 )

s SN TS
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/L/i 5% ) '}
97. Use the rational zeros theorem to find all the real zeros of the polynomial function. Use ihe zeros to factor f over the real
numbers. TALTE A o (R
A S¢S dhal L Sy HGD
) =x* +6x% - 16x% - 54x 63 ) £l
f -((, Lo ) [ ‘;/"T. 'r/7)

What are the real zeros? Select the correct choice below and, if necessary fi llém the San's.\.m»er box to comp{ete your answer
| G /£
___,,_J I / ’7 = q ~C )
O A x=
(Simplify your answer. Type an exact answer, using radicals as needed. Use |ntegers or(
fractions for any rational numbers in the expression. Use a comma to separate answers as

needed.) i 9 -4 —63
() B. There are no real zeros. . .
5 /0 1~ -3
Use the real zeros to factor f. mamy 3 £ ( 3
0= | o 21 (D

(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.) (&
'4 (O~ (==

Answers A. x= -7,1,3,-3 (“{ T jf) (\\_hj;{_’ 7 7) Il

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any

rational numbers in the expression. Use a comma to separate answers as needed.), —
=k B 2
= G A+ "/

+7)(x = 1)(x + 3)(x - 3 = v I
o+ 7)o = x 3)x— )JL_ 13 .))(, g 13 ‘)_P) P u /
ID: 3.2.53 ! % ) £ ) & A== A =—2
. Findthed in of the followi ional function.
98 ind the domain of the following rational function ‘/\7_,\,/\ X _{! / ? ”
. e — o 1

= . ¢ il
R =+ 19 /<ff [s— !
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A=/ 1.2

) A. The domain of R(x) is {x | ).
(Type an inequality. Use integers or fractions for any numbers i in | 1@ expression. Use a
comma to separate answers as needed.)

JO N G

(O B. The domain of R(x) is the set of all real numbers.
&
Answer: A. The domain of R(x) is {X | x#=-19 |} - >

(Type an inequality. Use integers or fractions for ah?‘ﬁﬁr’ﬂﬁars in‘the expression. Use a comma to separate
answers as needed.)

ID: 3.4.15
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99. Find thé{erﬁcalj_ horizontal, and. oblique asympptés, if any, for the following rational functigh.
Bx ek Xy >
x+3 . .
A=63-)

R(x) =

() A. The vertical asymptote(s) is/are x = ; // s
(Use a comma to separate answers as needed.)
() B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice. "~ /v <
- ) == )
) A. The horizontal asymptote(s) is/are y = . ’ X o 2
(Use a comma to separate answers as needed.) A /<
() B. There is no horizontal asymptote. \ -
VN i ol
Select the correct choice below and fill in any answer boxes within your choice, ; / ~
,{/-ﬁ)/ e, T2
(0 A. The oblique asymptote(s) is/are y = /t e A <5 p / - “
(Use a comma to separate answers as needed.) - : 7 —th —f 2
() B. There is no oblique asymptote. /’T O /
Answers A. The vertical asymptote(s) is/are x = -3 .(Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 8 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45
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100. Find the vertical, horizontal, and oblique asymptotes, if any, for the given rational function.

w-mxmtz = (IX *ﬁl(_’i':f 3X1Y

Qx)y=—5— —
5 - 14x-3 (#x t1) Q(_,-a-g) x|
) >
Select the correct choice below and fill in any answer boxes within your choice. 3 !(:_/_ 0%
q/s{) e
() A, The vertical asymptote(s) is/are x = (g /

(Use a comma to separate answers as needed. Use integers or fractions for any numbers in

the expression.) //LL‘J 25’,( f} TP

() B. There is no vertical asymptote. £ st ' —( = Al b (

Select the correct choice below and fill in any answer boxes within your choice. Y)( p— / ;

() A. The horizontal asymptote(s) is/are y = S 2 ”'_' ——-_?\‘“-«l//
(Use a comma to separate answers as needed. Use |ntegers or fractions for any numﬁe /u/ ._,// /)

the expression.)
() B. There is no horizontal asymptote.

Veried @57»)%& X= =L

Select the correct choice below and fill in any answer boxes within your choice.

5_’__.

) A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed. Use integers or fractions for any numbers in

the expression.) / 3N
() B. There is no oblique asymptote. /1 X, . 7y
Y ¥r( yi //AL /ﬁ
1 /, Atrsy X =
Answers A. The vertical asymptote(s) is/are x = -— /v ———

S =20 ( 57

(Use a comma to separate answers as needed. Use integers or fragtions for any numbers in the expression.)

|
3
A. The horizontal asymptote(s) is/are y = =

(Use a comma to separate answers as needed. Use integegs/or fractions for any numbers in the expression.)

B. There is no oblique asymptote. 2 _5{
ron XX
ID: 3.4.51
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101. Find the vertical, horizontal, and oblique asymptotes, if any, for the given rational function.

12x% + 11x = 15
RO ="3¢+5 =

Select the correct choice below and fill in any answer boxes within your choice.

) A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed. Use integers or fractions for any numbers in
the expression.)

(") B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

() A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed. Use |ntegers or fractions for any numbers in
the expression.)

(") B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

O A The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed. Use integers or fractions for any numbers in
the expression.)

() B. There is no oblique asymptote.

Answers B. There is no vertical asymptote.
B. There is no horizontal asymptote.

B. There is no oblique asymptote

. 3453 /(ﬁ// /Z)/ f/(/’“/sx

/MJ I/ f7/0L$ cad & 7 ) ffy///.-
//7 7\’ -/ ,l.,,)// (57 /}.‘_‘
///0 dL/'///CM 657;,,}//-71//

/

vﬁ
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102. The concentrati f a certain drug in a patient's bloodstream t haurs after injection is given by
i s L
1 = t / /ey € ¢
c) = ? ;7,, ‘Z :

32 +8 =
—ts : ,é L
(a) Find the.horizontal asymptote of C(t). ”'é L
e

o £l 1
A g €,
Determine what happens to the concentration of the drug as t increases. As tincreases, what value will C(t) approach?

- = € —
E—202 - Ze
(b) Which graph below is the graph of C(t), as displayed en a graphing utility? All four graphs use the following limits:
[0, 16] by [0, 0.20], Xscl=

c=| (Simplify your answer.)

A O c. D
2O
K N TZQ -
(c) Determine the time at which the concentration is highest. ﬁ = '-_,..- '

t= hours ﬂ(//(%mj’l// G 5/ h/( j =)

(Round your answer to two decimal places.)

) e o
g _'h-:_-‘“-w..__
o o

Answers 0

_..-—-*’J_\
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103. Solve the inequality. Express your answer using set notation or interval notation. Graph the solution set.
17 -2x<7 [ —(x <7

Choose the correct answer below that is the solution set to the inequality. / 74 A X _,f’) { 7 - / 7

) A {x|xz -5} or [~ 5,00) —~0 < =/ 0
() B. {x|x=5}or[5,c0) 9. e
() €. {x|x<5} or (5,00) .,..Z—’i 2 =
O D. {xjx= - 10} or [~ 10,00) Tl s

- > e
Choose the correct graph below that is the solution set to the inequality. &/L///_)

O) A, St ————r——— () B,
8 45 12 9 6 3 0

() C. Ctmpmpenpmiem)——{ > () D, S e ——
-9 -6 -3 0 3 6 9 -9 -6 -3 0 3 6 9

s ;{5 >N
Answers B. {x|x 25} or [5,00) Q .
— = i

ID: 3.6.1

. o HY % ..

104. Evaluate the following expression, if possible. 7 e 1 r A
2 235,711
3/4 //,,:3 VA VA
81
Select the correct choice below and fill in any answer boxes in ouy choice. 5 G? ’
DA 51304 ( ) 327
e

(O B. The solution is not a real number.

Answer: A. 813/4 = 27

3
3
s,

ID: QuickCheckP_4.1.10_ :—-__—_—_——:rj-fz'_ f) - ’?) =) -
105. — o 28 Z

Given h(x) = 3x” — 3x + 4, find h(- 3). A ( ;) 2(- 3) --—7> (~ }-,/— (g

h(-3)=| /} 3T D3NS ) — =)\

ﬁ(’—j)T’ﬁ("‘i)—Z(hsl—fk/
h(-3)= 27 1+
ID: 4.1.1 /7(-‘_5 - 3 (—p

B (—3) = 9‘0"‘“\

Answer: 40

& - _ b
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106. For f(x) = 5x + 6 and g(x) = 8x, find the following composite functions and state the domain of each.

@) fog (b) gof (©) fof (d) gog ( o, //.«/ ¥

.f% 364) )

Select the correct choice below and fill in any answer boxes within your ch‘oice‘l/“ 6?{) 3

(@) (fog)(x) = (Simplify your answer.)

/ ! :
() A. The domain of fogis {x | } ";1") oy = 4
(Type an inequality. Use integers or fractions for any numbers in the expressmn Use a %___'
comma to separate answers as heeded.)

e - - < ]
YW } g
() B. The domain of f o g is all real numbers. % { K é C'/(—/

(b) (g o f)(x) = ' (Simplify your answer.)

Got ) -
Select the correct choice below and fill in any answer boxes within your choice. —

O A. Thedomainofgofis{x| }. j(/él/) -

(Type an inequality. Use intégers or fractions for any numbers in the expression. Use a

comma to separate answers as needed.) S,X- 6 ) -
() B. The domain of g o fis all real numbers. j 1

(c) (fof)(x) = (Simplify your answer.) 7( S’Yﬂ‘c ) =2
Select the correct choice below and fill in any answer boxes within your choice. f}'c)/(// (/ y ‘_‘\

) A The domain of fo fis {x | ).
(Type an inequality. Use integers or fractions for any numbers in the expresswn Use a

comma to separate answers as needed.)
i Fol ) x) 1

(O B. The domain of fo fis all real numbers.

(d) (gog)x) = (Simplify your answer.) 4 ( / (5{) ) ]
| | - | <) - J/
Select the correct choice below and fill in any answer boxes within your choice. ,, f)(—(‘
& s
() A. The domain of go g is {x | } (ﬁ'f(rf(: 7 ( C’
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a S
comma to separate answers as needed.) , ( )) o ( 7 ,_,/;//

(0 B. The domain of g o g is all real numbers.

= '}
Answers 40x + 6 (Z”:}( ?’ ?(

B. The domain of f o g is all real numbers. : O K ) -~ J =
(90)e7- <l dwﬁ
N2 Y

40x + 48

B. The domain of g o fis all real numbers. 5 (

25 + 36 ﬁ ( Fol )

B. The domain of f o fis all real numbers. =T g
64x
/ — =B
B. The domain of g o g is all real numbers. &
ID: 4.1.23
_\___—__-___-_‘_"—-—-

—

N\/\—m
63 of 87 7472019, 11:50 AM



finalm1314CO149sulllljj-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

107. For f(x)=8x+7 and g(x) = x2, find the following composite functions and state the domain of each.
(@) fog (b) gof () fof (d) gog (?’C 5 /J <] =
f = Simpli . ¢ ]
(a) (fog)(x) (Simplify your answer.) ({( )r:/ ) ) -

Select the correct choice below and, if necessary, fill in the answer box within your: choiqle.

(Y

) A. The domain of fo g is {x | }
(Type an inequality. Use integers or fractions for any numbers in the expressmn Use a
comma to separate answers as needed.) X ( X } - ] <
() B. The domain of f o g is all real numbers. — ~—\.,\
(b) (@o f)(x) = (Simplify your answer.) -

Select the correct choice below and, if necessary, fill in the answer box within-yuurcho;ce

() A. The domain of g o fis {x | } d VL )/5(/

(Type an inequality. Use integers or fractions for any numbers in the exnresslun Use a
comma to separate answers as needed.) ) ( ﬂ/ \} ) »

() B. The domain of g o fis all real numbers. -
(Fhr 1) <

Select the correct choice below and, if necessary, fill in the answer box within your choice. (//( ¢ y

) A Thedomalnoffofls{x| } ﬁn Usea/{((( /)

(Type an inequality. Use integers or fractions for any numbers in the expres:
comma to separate answers as needed.)

() (fof)(x) = (Simplify your answer.)

(Y/ »/ SCA 56K -

() B. The domain of fo f is all real numbers.

(d) (go g)(x) = ~ (Simplify your answer.) 6 > “‘I( / &)( —f )‘ )

Select the correct choice below and, if necessary, fill in the answer box within.your-cheige——===

() A. The domain of go g is {xI VVVVVV } % 7‘ ?KJ

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a

comma to separate answers as needed.) f //
(1) B. The domain of g o g is all real numbers. ( f“?’ )
/( T ) ~

g('fxtf; P

Answers 8x2 +7

B. The domain of f o g is all real numbers.

G XS S’Gfr7<— z

64x° + 112X + 49

B. The domain of g o fis all real numbers.
64x +63

B. The domain of f o f is all real numbers.

4
X

B. The domain of g o g is all real numbers.

ID: 4.1.25
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The function f(x) = 2x - 1 is one-to-one.

(a) Find the inverse of f and check the answer.

(b) Find the domain and the range of fand f .
(c) Graph f, f~ 1 , and y =x on the same coordinate axes.

@ f Tx=

(Simplify your answer. Use integers or fractions for any

numbers in the expression.)

(b) Find the domain of f. Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.
) A.
) B.
O C.
) D.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

O A.
O B.
O c.
D

Find the domain of f~ ! . Select the correct choice below
and, if necessary, fill in the answer box to complete your

choice.

O A
() B.
N o

D.

Find the range of f 1. Select the correct choice below and,
if necessary, fill in the answer box to complete your choice.

A.
) B.
e
D.

(c) Graphf, 1 , and y =x on the same coordinate axes.

The domain is {x|x2
The domain is {x|x#

The domain is {x|x<

The domain is the set of all real

numbers.

The range is {yly #
The range is {yly >
The range is {y|y <

The range is the set of all real numbers.

The domain is {x|x<
The domain is {x|x #

The domain is {x|x2

The domain is the set of all real

numbers.

The range is {y|y #
The range is {y|y <
The range is {y]y >

The range is the set of all real numbers.

o = o

1

b
}.
}.

S~

}.
%
ba

Use the graphing tool to graph the functions.

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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x+1
2

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.
D. The domain is the set of all real numbers.

D. The range is the set of all real numbers.

zcw

16+

ID: 4.2.53
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109.

The function f(x) = is one-to-one.

3+x
1

(a) Find its inverse and check your answer. (b) Find the domain and the range of fand f .

(@)f 1 (x)= (Simplify your answer.) \7 - 3 ’f/

(b) Find the domain of f. Select the correct choice below and, if necessary, fill in the answer box to comp!ete__y’qur choice.

= ==

A. The domain is {x|x2 ). X = 2+ ]
(Type integers or fractions. Use a comma to separate answers as needed.) y "
© B. The domain is {x|x# }. , . ( (f)
(Type integers or fractions. Use a comma to separate answers as needed.) X ( f i ‘7 ) =
O €. The domain is {xlxs }

(Type integers or fractions. Use a comma to separate answers as needed.) *,’ ‘/ 7 X kj - ?

(O D. The domain is the set of all real numbers. %’Z / X‘-" { »Z{ (N Z/ 3 ’(

Find the range of f. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

yv)L (,f/‘ " 4

O A The range is {y[yz } .
(Type integers or fractions. Use a comma to separate answers as needed.) C"/ : } A
O B. Therange is {ylys } - - )(
(Type integers or fractions. Use a comma to separate answers as needed.) 2 ¢
O C. The range is {yly;‘E } - C-"_ A

(Type integers or fractions. Use a comma to separate answers as needed.)

P

(V>
Now, find the domain of f 1. Select the correct choice below and, if necessary, fill in the answer box to complete your

choice. e ,\——( N\ K 3)( )
O A. The domain is {xlxs } c / (’< ) ) vy '

(O D. The range is the set of all real numbers.

(Type integers or fractions. Use a comma to separate answers as neede )<

=
O B. The domain is {xlx# }
(Type integers or fractions. Use a comma to separate answers as needed.)
C. Thedomainis {x|x 2 }

(Type integers or fractions. Use a comma to separate answers as needed.)
D. The domain is the set of all real numbers.

Find the range of f 1 Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. Therangeis {y|y 2 }
(Type integers or fractions. Use a comma to separate answers as needed.)

B. Therangeis {yly# }
(Type integers or fractions. Use a comma to separate answers as needed.)

C. Therangeis {ylysr - }
(Type integers or fractions. Use a comma to separate answers as needed.)

D. The range is the set of all real numbers.
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8- 3x

B. The domain is {xlx # -3 b,

(Type integers or fractions. Use a comma to separate answers as needed.)

C. Therange is {yly # 0 I8

(Type integers or fractions. Use a comma to separate answers as needed.)

B. The domain is {xlx # 0 p.

(Type integers or fractions. Use a comma to separate answers as needed.)

B. The range is {yly # -3 b

(Type integers or fractions. Use a comma to separate answers as needed.)

Answers

ID: 4.2.63
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110.
Use transformations to graph the function. Determine its Ay
domain, range, and horizontal asymptote. 104
8_
f(x)=5"+1 ]
G-
Use the graphing tool to graph the function. 4]
(For any answer boxes shown with the grapher, type an 2;
exact answer.) .
fo 8 6 4 2 377 6 8 w0
What is the domain of f(x) = 5% + 1? s e o] P
-4
—! il
(Type your answer in interval notation.) 4
-6
What is the range of f(x)= 5" +17? &
H—— -10-
(Type your answer in interval notation.) & ) )ﬁ )
What line is the horizontal asymptote of f(x) =5 +1? ! V.S
Ly =T &
| (Type an equation.) /Z('Z) T § 2|1 ix
__._.-f—'—'f_—___
a2 f 1
Answers Ay ,[(”1) ~ g l + ,_,‘ [ S
/"F_j_‘-
= Ol —
1) = 25
L e — y

4: /(r ‘ ) - f {/
i Q./ - /-;/ ™

o o)< 2 €
(1,00) /@// (— | |

y=1

ID: 4.3.43 | s : j/}r) ’//
( - ; Z —

/(( 1=
(
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111. Solve the equation e—
3¢ +6 G
/|

. . Od
8 = 256" - ) w\w\;}f/ y
The solution set is { } -ty & i " fX,' / i /{/ - D

(Type an integer or a simplified fraction. Use a comma to separate answefé as needed )

—3 Xt (G = FX -#CQ

~3 X< T« +6 g2
ID: 4.3.73 '-5’( — dx - 'ﬁ’/-’—(/ EL
o =1 ‘ X &‘fé_L Y e ———————

\— - i
2. Suppose that f(x) = 6"

-x+22

Answer: 6

(a) What is f(5)? When x =5, what is the point on the graph of f?
1 1
(b) Iff(x) = 36" what is x? When f(x) = 36" what is the point on the graph of {?

(a) f(5) = . The point " ison the graph of f.
(Do not use commas in any individual coordinates.)

1 .
(b) Iff(x) = 36 %7 . The point is on the graph of f.

(Do not use commas in any individual coordinates.)

Answers 7776 /
(5.7776) /]~ /

)(
Gy 7 6.6 66

ID: 4.3.95 ( 7 /7 ;__,;*
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113. If a single pane of glass obliterates 2% of the light passing through it, the percent p of light that passes through n
successive panes is given approximately by the function below.

p(n) = 100(0.98)"

(a) What percent of light will pass through 10 panes?
(b) What percent of light will pass through 25 panes?
(c) Explain the meaning of the base 0.98 in this problem.

(a) The percent of light that will pass through 10 panes is approximately %.
(Round to the nearest whole number as needed.)

(a) The percent of light that will pass through 25 panes is approximately %.
(Round to the nearest whole number as needed.)

(c) Choose the correct answer below.
Each pane allows only 0.98% of light to pass through.

Each pane allows only 2% of light to pass through.
Each pane allows only 98% of light to pass through.

Cowe»

Each pane allows only 0.02% of light to pass through.

Answers 82
60
C. Each pane allows only 98% of light to pass through.

4

ID: 4.3.105

PR (01T

Gy s (017
- X/*’ 20772 Jo6 7
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114. The price p, in dollars, of a specific car that is x years old is modeled by the function below.

p(x) = 22,265(0.90)* //Z ) Z 2. &G S (O 7 0)

(a) How much should a 2-year-old car cost? / = 0 2 t/ N (_, (

(b) How much should a 6-year-old car cost? /2 — e - ~

(c) Explain the meaning of the base 0.90 in this problem. Q / a/ 0 3 ) C)
a) A 2-year-old car should cost approximately $ "/—’—L_l—’d

(@) A2y y 27265 O S d)
(Round to the nearest whole number as needed.) /( 6 ) C >

(b) A 6-year-old car should cost approximately $ //{/( ) // 6( ( § 4 ¥, /}

(Round to the nearest whole number as needed.)

(c) Choose the correct answer below. Q//}/G) 47 ? } -. \\\

() A. As each year passes, the car is worth 90% of its value the previous year.
() B. As each year passes, the car is worth 10% of its value the previous year.
{0 C. As each year passes, the car is worth 0.10% of its value the previous year.
(O D. As each year passes, the car is worth 0.90% of its value the previous year.

Answers 18,035
11,833

A. As each year passes, the car is worth 90% of its value the previous year.

ID: 4.3.107

115. The function

D(h)=3 e ~06h

can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the drug
has been administered. How many milligrams will be present after 1 hour? After 6 hours?

After 1 hour, there will be milligrams. (Round to two decimal places as needed.)
After 6 hours, there will be | milligrams. (Round to two decimal places as needed.)
;= 06 h /. i

Answers 1.63 . g 6 =i

D (lw ) - 2D N

0.08 A
D=3 &'(oer))

ID: 4.3.111

- ,[ (’}(j,;\‘_., s -
C /67>
D(¢)s 3 7 (061 (®)
0.072 (77537
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116. Find the domain of the function. S (/{_ )(J/ (7- > o \‘_&U e,
f(x) = In (x + 9) _ o g,
X+ 9—5 >uU—7 ,fo() < A (A7)
The domain of f is | = ——— i

) | — . _// /
(Type your answer in interval notation.) < X — -9 ‘:) }\/\_14— A X+ 13 >d 'r/

Answer: (- 9,00) : _g f-b-
- /‘
—

ID: 4.4.39
e
117. Solve the following equation. = ﬁ hrri ( éu ()()
log gx =2’7 /"// a L 2 9
The solution set is i -
(Simplify your answer.) C‘ ) i = )(
Answer: 81 - __,x
ID: 4.4.89
= : c-_
118. Solve the equation. Z J )Z_ ( 6 NS ) o L/

log(Bx+3)=4 . e D Vb
T

Change the given logarithmic equation to exponential form.
¢

7 = X~
The solution set is { . 2( L L+t =% 0 X —r }

(Simplify your answer. Use a comma to separate answers as needed.)

Answers gy 4 3 = 74 /( y =% 5 X —¢ 5

o /(=3 = dx~ ¥
ID: 4.4.91-Setup & Solve / 5 - 5 )<

I /_lgfé(_

kType an equation. Do not simplify.)

I
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119. Solve the following equation. Write the answar in terms of the natura[ logarithm.

e2x=5 ( ) 'g“ ﬁ/
The solution set is { } -.))( /A\ (( ( ) / /

(Type an exact answer in simplified form. Use integers or fractlons for any numbers in the expression. Use a comma to

separate answers as needed.) 2 X (// _ /Z/z (I'
Answer: In 5 Z )( /Z- /&/

2 2K <_/_IJ

ID: 4.4.101 /’ . ::___“

— — b . -_‘.-
120. The formula L—*' & ;3:: /OC J
D=10¢ 0N

can be used to find the number of milligrams D of a certain drug that is in a patient's bloodstream h hours after the drug
was administered. When the number of milligrams reaches 3, the drug is ta be adinmftzred again. What is the time

between injections? i - /,J /
The time between injections is hour(s). (> ' /") é( 3) —-0. gl’ ///

(Type an integer or a decimal rounded to two decimal placesis(/nee;!e/d. r ,/ ! ( 3) < —Q, K¢ /

Answer: 4.01 /Z(,g)iz/é{/fi:o'34 3 /:F_L,/‘i ‘ :C()/' 3

ID: 4.4.125 /ZZ/,;) - —0.34 CH/’(’/C% f 329267 - _A%‘)

121. Write the expression as a sum and/or difference of logarithms. Express powers as factors. ——

4

Iog7(xx_—2},x>2 /Uy? )(/ v )
2

4
X .
log ; (x 2 J = (Simplify your answer.)

L/
Answer: 4log ;x - log 7(x - 2) /Uj (/5/
ID: 4.5.49 A, )
ey (X

-_—
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122. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

[ oo fos (X(ar2) = oy U772

(x+ 5)15 v
X(x+7) éu) ()(’ ‘__'( éU) (t// 7/ CUj ()(,(( \j =
log |: s 5)15 ] = (Simplify your answer.)

Answer: log x + log (§7)C15:90"'2)(‘I - Z)) [X;f;_j —_— / by &J} (X—f § ))

123. Write the expression as a sum and/or difference of logarithms. Express powers as factors

T ,Z«(%(V/:&) o o Gz}

ID: 4.5.51

(x- 6) L = ____‘// - 6(
e Mfig)t Mot (=t Ko T3 Pis /

x-6"" 7 /(/)S:tllwziir;:zwer) /Z/' (/741 / / X~ 6 rj:

Answer:
In 4+ In x+—|n(1+5x) 15In(x 6)

LA (150 — ] (i
ID: 4.5.55 &@ _-(_‘/Z-V.K[ —f 2 / ( )
124. Solve by using the quadratic formula. ( ,s /(r‘ Z 6 = /( ,-é +6ﬁ Z,K{( C
2
;) b3 (=g
The solution set is

(Simplify your answer. Use a comma to separate answers as needed. Express complex numbers in terms of i. Type an
exact answer, using radicals as needed.) m
- ~1
Answer:. —4,7 /t/ ( }) /} %/ 6)
2 (1)
ID: 4.6.1 ] o
Y= 37 ([ D L1 o
—
Y 3£ I
2
)(: 1t/ 't/ /

x?-3x-28=0

[l /
_Z_
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125. Solve the following logarithmic equation. (“)Lj ( :%() - ’Z_
S(
log 4(7x) =2 2> v

Tl 1 (

Select the correct choice below and, if necessary, fill in the answe%ox to complete your choice.

() A. The solution set is {__w‘ } 9 R /{\

(Simplify your answer. Type an exact answer. Use a comma to separate answers as

needed.) (/’ & T '7;(‘
() B. There is no solution. /
6= /X

16 VA4
Answer: A. The solution set is - . - —_—
| 7 7 7

(Simplify your answer. Type an exact answer.. a to separate answers as needed.)

ID: 46.7

126. Solve the logarithmic equation. o —) é""//o? ()("L 7) ~ (u/f,?(/(/)

log g(x+9)=logg10

Determine the equation to be solved after removing the logarithm. X ’—f 7 < /O
=

(Type an equation. Do not simplify.)

Select the correct choice below and, if necessary, fill in the answer b

O A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

(") B. There is no solution.

Answers x+9=10

A. The solution set is { 1 b

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve
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o - /'
127. Solve the logarithmic equation. / (}(/ ﬂ(—f/) Z < () (e (5‘—{1\) ==
log x+ log (x +15)=2 . . ;
g x+ log fol x()(+rs~) /(U) ¢) ﬂ(u)(z }= 1

Determine the equation to be solved after removing the Ioganthm w X v G%U V(

/SO = )( 17 X ! PR AT =3
(Type an equation. Do not simplify.) OZ )( »-/—/ s — A (/‘/‘) ("’ZU‘) _(,[) (/d—r‘\f
(/s = T

Select the correct choice below and, if necessary, fill in the answer box lo complete ygur cho ce

(A The solutlon set is { }

needed.) )("'.5 Zo 0 ' ; N

) B. There is no solution

: G2 =Caa G Sk
<5 : ' e
Answers x(x + 15) = 10° A Wa gr_r» \

A. The solution set is { 5 } )
e

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.17- Setup & Solve

\ 5 = e — — — —

128. Solve the following logarithmic equation.
log x+ log(x+3)=1

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

() B. There is no solution.

Answer: A. The solution set i |s 2
(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

/ - ,d—r’t o4
ID: 4.6.17 ,,_ (/H‘C((,,

Zo,z&(/f()&‘”) ; (Lﬁ((’)—% (()(2“‘3):’
(05 W) Cop L

\

‘o § ;%(;i) \ Lo o5V
ks =~ 3, .

O= 1 %E?J d
0= (v-0kt ye
77ofs7/("§ it == ; 2’ \@19 11:50 AM
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129. Solve the following logarithmic equation. / ; 07*/{{/ ' (f:i} (}( ")7) .I ,__ZE?(T :_f:_l .
log (Bx+1)=1+ log (x—8) (6') (y 7 ) / /

Select the correct choice below and, if necessary.éll in the answer box to complete your céo:ce "
O A. The solution set = 7 QS 2Ly )= ' :
e solution set is { }- X %/ Z('L)f,)vf—f(v@_/*ﬂ)

(Simplify your answer. Type an exact ansu}er Use a comma fo separate ans
o5 (34 )+ efocs)

needed.

() B. There is no solution. /(/()(—— X) | (i)(—f
Iy— JO — axX 'f/ /
(KT I = /
[
(Simplify your answer. Ty;e an exact answer. Use comrna to

X—FA < Yx-t¥
ID: 4.6.19 2xX < ¥ !

Answer: A. The solution set is 4

130. Solve the following exponential equation. Express irrational solutions in exact form and as a decimal rounded to three

decimal places. )(- _/> }

327 3 =3

What is the exact answer? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

3

© A. The solution set is{ | )(’/s"" Z g %’/ 3

(Simplify your answer. Type an exact answer.)
() B. There is no solution.

What is the answer rounded to three decimal places? Select the-cerrect-choi 2 ne_dessary, fill in the answer
box to complete your choice.

) A. The solution set is {

(Simplify your answer. Type an integer or decimal rounded to three decimal places as
needed.)

() B. There is no solution.

Answers A. The solution set is ﬂIﬂ.(Simplify your answer. Type an exact answer.)

A. The solution set is { 6.000 }

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

ID: 4.6.41
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131. Solve the following exponential equation. Express irrational solutions in exact form and as a decimal rounded to three
decimal places.

/.'.

What js/ll*t’é exact answer? Select the correct choice below and, if necessary, fill in the answer box to complete your
ice.

(O A. The solution set is { }

(Simplify your answer. Type an exact answer.)
() B. There is no solution.

What is the answer rounded to three decimal places? Select the correct choice below and, if necessary, fill in the answer
box to complete your choice.

© A. The solution set s { b
(Simplify your answer. Type an integer or decimal rounded to three decimal places as
needed.)

() B. There is no solution.

In5
In 2

Answers A. The solution set is .(Simplify your answer. Type an exact answer.)

A. The solution set is { 2.322 }

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

ID: 4.6.43 -~

7/24/2019, 11:50 AM
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132. Solve the following exponential equation. Express irrational solutmn in (act form and as a decimal rounded to three

decimal places. _~X B
Lfs )=

5 X=35

What is the exact answer? Select the correct Chmce low and, if necesﬁry ﬁ'm the answer box to complete your
v
v

choice. (/C_/

() A. The solution set is { } - v )
(Simplify your answer. Type an exact answer. )j' -y o

() B. There is no solution. ~ / j\.. (5 3 \

28

—

What is the answer rounded to three decimal places? Select the correct chouce beloiaétj if necessary, fill in the answer

box to complete your choice. _/ [ ( )()

() A. The solution set is { } s S
(Simplify your answer. Type an integer or decimal roun ﬂ\tree decj
needed.) =

() B. There is no solution.

Answers A. The solution set is { = log 3.5 }..(Simplify your a eﬁ'TYp'é'En_exact answer.) e

A. The solution set is { -0.778 } X- o 7 7 /}g 5 3 ? 7

(Simplify your answer. Type an integer or decimal rounded to three.deeimal-plac

ID: 4.6.45

133. Find the amount that results from the given investment.

A Gov ([«
$600 invested at 4% mmpounde@er a period of 3 years

Al
After 3 years, the investment results in $' Lk A 6 . ( Lf ()(//C/> ( / )
(Round to the nearest cent as needed. ) A L @ 7 é O 7 ’)’O/ i/
Answer: 676.10 A /( / Wy’ ) — (()(,,_ ,/

ID:4.7.7

134. Find the amount that results from the given investment. /4 :Z_(,_’(.J ({ / ;(LZ

=T 1
$200 invested at 7% compounded @r a period of4 years )/‘ [’ )

After 4 years, the investment results in $

(Round to the nearest cent as needed.) )K/

Answer: 273.31 A ~ /( /,-,r//

ID:4.7.9
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135. How many years will it take for an initial investment of $10,000 to grow to $1 5,000? Assume a rate of interest of 4% {

compoundﬁcontinuously} 25000 < AP0 (_),65’ /Z (/ 3), od q,t(//\ ip) (
It will take about years for the mvestmentt:::cg(row to §15, D?? ( / ;) -~ LU & é// /

(Round to two decimal places as needed.)

] c/(-' e €
T et LU

d

= LOPE .
ID: 4.7.41 7 gj OV{:’/@‘77 =5 /’)
"4 (/5) ‘// oty =L FHuod

136. What will a $130,000 house cost 6 years from now if the price appreC|at|on for homes over that period averages 6%

compounded annually? /4 /{/4 _K/

The future cost of the house will be $
(Do not round until the final answer. Then round to th to the nearest cent a.?;j eded.)

Answer: 184,407.48 ﬂ /3 (L)JU (f—f 0() {3/

/30000((#&75/1)”(6)
ID: 4.7.43 /4 5/97 Gro)e Y75 Y o

Answer: 10.14

= [FS SO7 w )

! L
137. Jerome will be buying a used car faf-$6;000 jn*3 years. How much money should he ask his parents for now so that, if he
invests it at 8% compounded@ﬁgg—% he will have enough to buy the car? A = /( 7€
Gooo = /9 ¢08) (3)
Jerome should ask for § ,,Z y

471977 <77
ff"w,//

(Round to the nearest cent as nt as needed.) ) 50‘00 =
Bovo . J/i
Answer: 4,719.77 N /_Y
ID: 4.7.45 («///T 7(7/“' )

138. Trish invests $6,000 in her IRA in a bond trust that pays 14% interest compounded semiannually. Sean invests $6,000 in
his IRA in a certificate of deposit that pays 13.5% compounded continuously. Who has more money after 20 years, Trish =

or Sean? v A /”( s
n=pfl+ %) A=

After 20 years, Trish will have $ . (Round to the nearest cent as needed.)

After 20 years, Sean will have $| . (Round to the nearest cent as needed.) j |3 !’( ’Zq)

J

267

/7L Gous C
/)fe'owf
f = g?%?f}iaz/
IR’

After 20 years, (1) —ﬁ will have more money. (2 (20))
4 - 7~ /Y
(1) © Sean A ; 6o (/+°T

Trish
A N
Answers 89,846.75

89|278 39 14 é? (7 iy(d 7470

(1) Trish on

¢

T TR42019,11550.AM
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139. The size P of a certain insect population at time t (in days) obeys the function P(t) =200 ¢ 0:0if
(a) Determine the number of insects at t= 0 days. e 6/( (u )
(b) What is the growth rate of the insect population? / ((:’?/ é_) C
(c) What is the population after 10 days? i~ P
(d) When will the insect population reach 300? —
(e) When will the insect population double? /(0 ) - ZUQ C) /

(a) What is the number of insects at t =0 days? 7(0 ) ?ij/
insects s ""} —_—

(b) What is the growth rate of the insect population? /(/Q) d Z(.)u ( /

= o) = qvo
(c) What is the population after 10 days? /?_
Approximately |insects. Q ( /‘)) . ZZ (g C/ /Q’é/ ;j 6}

(Do not round until the final answer. Then round to the nearest whole number as needed. ) ﬂ

(d) When will the population reach 300 insects?

In approximately days. i -
(Do not round untit the final answer. Then round to the nearest tenth as needed.).- 0;’0‘]—? b C\.J L \)L&ﬂ, a

(e) When will the insect population double? ¥ - 4
T E 3->=‘-3< g w - 2aC
In about days. By - 2 ) ?.._-—-—- ¢

(Do not round until the final answer. Then round to the nearest-tenth-as- ne%) {

AnswersZEl o gl /-(.J——Cﬂ— Z 0 (
e D ,g(/;—) % ‘ A (1) ~ /((’ 6/9

o L [s)- ao:éjw/ /ﬁ(z‘) = Qo) EA(E!
405j(/§) ()61/6”) /K(Z) - O(/,G’f(é(”/

s - g€ | _facz)= C9lE
| -{é“,%i(i oL 4 007 _ 7'7”'4/
> g, T 68 317 11796 =C |

140 The half-life of carbon-14 is 5600 years. If a piece of charcoal made from the wood of a

carbon-14 expected in living matter, when did the tree die? A ’///"L &;“

The tree died about years ago.
(Do not round until the final answer. Then round tgthe nearesE)vrrcale number’

Answer: 2654 72 /UU /j) SZW / _//

Ve f” y / L) e
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that country was contaminated by a radioactive isotope (haif-life & da}s) If it is safe to feed the hay to cows when 12% of

141, After the release of radioactive material into the atmosphere frﬁiiuuc!ear power plant in a country in 1983, the hay in
the radioactive isotope remains, how long did the farmers need fo wait to use this hay?

The farmers needed to wait approximately
(Round to one decimal place as needec?

=y (# ) P

7{,5—7/0\'(4)“

days for it to be safe to fged the hay to tjie cows.
(/). ’-?,_)r-ﬂ,,?
.ix(r/u En (!

_;é’w. (/L) _

Answer: 18.4

s’
=S oy b
ID:4821 <+ /7 ~ /) z
(. ﬂ\u &
&
142. Uninhibited growth can be modeled by exponential functlanijher than n&(t) kt. For example, if an initial population

t

Py requires n units of time to triple, then the function P(t) = Pot%) . Hbdélé the size of the population at time t. An insect
population grows exponentially. Complete the parts a through d below.

(a) If the population triples in 30 days, and 50 insects are present initially, write an exponeM n of the form
P T /1’1}' = g _E""‘w\

—_ .
I@%@Mhodels the population. . - 1 dJd //—é/( Y
P@)=| ‘f 4
(b) What will the population bé in 4z/d_aya’*’ / (y 7 ) }@( ;) A // :
The population in 47 days will be | /( (/7> ? ( i . - /
(Round to the nearest integer as needed.) £ ~ (0% oy Z
(c) When will the population reach 8007 \___CL!Z— Cz‘% / y 7/

a2 = > Ao

The population will reaeﬁ 800 |n days W/ &/3 )= \2‘/"}-‘ = &
(Round to one decimal place asneeded) ) e e R

(d) Express the model from part (a) in the form A(t) =Ag e Kt

P(t) = '
(Use |ntegers or decimals for any numbers in the expression. ?und to thre/q decimal places as needed.)

PR §0o =<0 (%) 7> /M B

50(3) >0 2 e
280 /”"—“

75.7

50 ¢ 0.037t

ID: 4.8.32-GC /Zs (/6/

_..--"""_
320
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143. Determine if the values of the variables listed are solutions of the system of equations.
2x—- y=4 2(1)”— (_Z) 1(7/
6x+2y=1 2 1= G‘Uv&/

x=1,y=-2;(1,-2) =3

Is (1, - 2) a solution of the system of equations? 6 (( ) _(— Z (—-’z) - "7"

) No A
() Yes M' j
Answer: No

ID: 6.1.9

2x —8y= - (,) }4‘
10x+y =11 /?/

S =5 A

“Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

O A. The solution of the systemis x= andy= .
(Type an integers or simplified fractions.) S X — 5‘7 3
() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as E
{(x,y)lx—___‘ 7777777 ,'y any real number}. (, ,-- )'[7 - = 5
(Simplify your answer. Type an expression using y as the variable as needed.) i :)
(") €. The system is inconsistent. 2~ 517
Answer: A. The solution of the system is x = 1 andy= L1 | // I ’__ T

(Type an integers or simplified fractlons ) /1 g .7 =

ID: 6.1.33 _,_)

r—S”J = = F
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145. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

11
2x+ y+ z 7
-3x+2y—2z= -15

X-2y+ 3z

n

Select the correct choice below and fill in any answer boxes within your choice.

) A, The solution is x = Y= ,andz= . (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x=_ Y= ~_,zany real number}.

(Simplify your answers. Type expressmns usmg z as the variable as needed.)

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x y.2) | x= ,yanyreal number, z any real number}
(Simplify your answer. Type an expression using y and z as the variables as needed.)

(0 D. The system is inconsistent.

Answer: A.
The solution is x = 3 Y= -1 .,andz= 2 . (Type integers or simplified

fractions.)

ID: 6.1.45

O//AJ/@;@(/ A, X< G
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146. Write down the first five terms of the sequence. e ——

w5

Type the first five terms of the sequence {an} = {

n
} Assumen21 ——,

n+8 X
a=__ (Simplify your answer.) d/ = s
= | (Simplify your answer.) ) .,*"
_—‘. G 1Y
a3 = (Simplify your answer.)

a, = ' (Simplify your answer.)

ag =| ' (Simplify your answer.t'{"

ID: 7.1.17

147. Expand the expressj nusmgthebinom:alt orem. W5 5""”1‘!}_ ¢ ¢/a,fo
(x +3)* &, pith Froyner yonle. , 0 = |
‘r/,ﬂmq/’/éhw/ﬂ//:‘/
(x+3)*= ({/}"7¢/ﬂ///’6 MC’/" l'"-n[f f 2') - é
Answer: x4+12x + 54x +108x:-‘81ﬂ]\/“;’jJ MCV e ; q

V) P, ﬁé,}?cy,, Tk, =

ID: 7517

" Qe .l C@//// = (»d/;) ~f <X /,/—f C/rj/; -
( /W/ ) + @ (H3)f /é)&//ﬁ) (wk//w)w M) =

Aty P v +/af9

— e —
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148. Expand the expression using the binomial theorem.

(x-2)°

“(ﬁ((ﬁ?ﬁ% 5 VY%L Ma “t 5 &/Z}f < (- w S
Answer: x5 _ 10x* + 40x° - 80x? + 80x

(7UWW+ﬂQU“ﬂw4W@%(WW(W&%/W1;%OMV*Cﬁﬂéx):

DTG , deg—/fd,x +pfos —% 2 —

149. Expand the expression using the Binomial Theorem,
(5p+1)*

Bp+1)* =] (Simplify your answer.)

Answer: 6255% + 500p> + 150p2 + 20p + 1

ID: 7.5.21

(ﬂ)//r—f' (/p}// T C(jfo)/()7‘ C (r,w)/f)—( C(Wl(()

W)+ A0+ (6P A0 IO~
(f(/f(égn%j/ s (0 A o5t N X O X000 =

Qézq”ffawwéﬁ/W/ Teop T =

l&/{S( )/&)ﬂz (L/C-«(._lu*' . Lﬁ - /
9‘/4%7/«/4 7r ner, 5”7'“/”/ 0/' L

({ }’Ac_/fl/f /4(/ € Ce ( = 7

£ 7 I B ’4,

InLh o N, el L = i

C/ / A L

C// }97’;4 /é W(/}- 2albe T Hal<y : %‘
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